2018 DBI Report of Delinquent Charges

Sorted by Address

Page 1

of 88

April 23, 2018	Sorted By Address City Wide
1 Division: CES Inspector: Li Address: 425 02ND AV Block/Lot: 1542 003 Directors Order No: 108492-A Owner Address: RICHARD Y & JENNIFER C WONG RICHARD Y & JONG H WONG	Supervisor District: 1 Assessment of Costs: \$338.88 Interest @10 percent: \$33.89 Subtotal: \$372.77 Lien Recordation
451 LARCHMONT ST HAYWARD CA 94544	Charges: \$173.91 Total: \$546.68
2 Division: CES Inspector: Greene Address: 620 06TH AV Block/Lot: 1639 043 Directors Order No: Owner Address: WU ALLEN G L & HUI YAN 620 6TH AV SAN FRANCISCO CA	Supervisor District: 1 Assessment of Costs: \$1,499.16 Interest @10 percent: \$149.92 Subtotal: \$1,649.08 Lien Recordation Charges: \$173.91
94118 3 Division: HIS Inspector: Barber	Total: \$1,822.99 Supervisor District: 6
Address: 219 221 06TH ST Block/Lot: 3732 123	Assessment of Costs: \$563.25 Interest @10 percent: \$56.33
Directors Order No: H201779291 Owner Address: HOWARD SIX BROS LLC 3288 STEINER ST 2ND FL SAN FRANCISCO CA 94123	Subtotal: \$619.58 Lien Recordation Charges: \$173.91 Total: \$793.49
4 Division: HIS Inspector: Wohlers Address: 219 221 06TH ST Block/Lot: 3732 123 Directors Order No: 201409192 - A Owner Address: HOWARD SIX BROS LLC 3288 STEINER ST 2ND FL SAN FRANCISCO CA 94123	Supervisor District: 6 Assessment of Costs: \$1,779.57 Interest @10 percent: \$177.96 Subtotal: \$1,957.53 Lien Recordation Charges: \$173.91 Total: \$2,131.44
5 Division: HIS Inspector: Barber Address: 219 221 06TH ST Block/Lot: 3732 123 Directors Order No: H201832131 Owner Address: HOWARD SIX BROS LLC	Supervisor District: 6 Assessment of Costs: \$4,245.45 Interest @10 percent: \$424.55 Subtotal: \$4,670.00 Lien Recordation
3288 STEINER ST 2ND FL SAN FRANCISCO CA 94123	Charges: \$173.91 Total: \$4,843.91

Code Enforcement Cases

April 23, 2018	Sorted By Address City Wide
6 Division: HIS Inspector: Olivares Address: 205 07TH AV Block/Lot: 1426 001 Directors Order No: 201633891 - A Owner Address: CHEW FAMILY BENEV ASSN INC % UNITED ASSOCIATION INV, I 1580 TARAVAL ST SAN FRANCISCO CA 94116	Supervisor District: 1 Assessment of Costs: \$1,746.59 Interest @10 percent: \$174.66 Subtotal: \$1,921.25 Lien Recordation Charges: \$173.91 Total: \$2,095.16
7 Division: HIS Inspector: Olivares Address: 678 680 09TH AV Block/Lot: 1636 012 Directors Order No: 201576113 - A Owner Address: LAI YENN YEN % YENN YEN LAI & WAN HONG L P.O. BOX 29503 OAKLAND CA 94604	Supervisor District: 1 Assessment of Costs: \$2,203.22 Interest @10 percent: \$220.32 Subtotal: \$2,423.54 Lien Recordation Charges: \$173.91 Total: \$2,597.45
8 Division: CES Inspector: Gutierrez Address: 1560 09TH AV Block/Lot: 1854 012A Directors Order No: 106751-A Owner Address: RUAN NEVIN X & HU JENNY W 1560 09TH AVE SAN FRANCISCO CA 94122	Supervisor District: 7 Assessment of Costs: \$1,402.44 Interest @10 percent: \$140.24 Subtotal: \$1,542.68 Lien Recordation Charges: \$173.91 Total: \$1,716.59
9 Division: CES Inspector: Li Address: 1326 11TH AV Block/Lot: 1765 035 Directors Order No: 109362-A Owner Address: WOO/SETO FAMILY TRUST % JOHN WOO & BO LIM SETO, T 1326 11TH AVENUE SAN FRANCISCO CA 94122	Supervisor District: 5 Assessment of Costs: \$290.16 Interest @10 percent: \$29.02 Subtotal: \$319.18 Lien Recordation Charges: \$173.91 Total: \$493.09
10 Division: CES Inspector: Gunnell Address: 1326 11TH AV Block/Lot: 1765 035 Directors Order No: Owner Address: WOO/SETO FAMILY TRUST % JOHN WOO & BO LIM SETO, T 1326 11TH AVENUE SAN FRANCISCO CA 94122	Supervisor District: 5 Assessment of Costs: \$338.52 Interest @10 percent: \$33.85 Subtotal: \$372.37 Lien Recordation Charges: \$173.91 Total: \$546.28

Page 2 of 88

Page 3

Charges: \$173.91

\$2,018.41

Total:

of 88

Code Enforcement Cases

Code Enforcement Cases	
April 23, 2018	Sorted By Address City Wide
11 Division: CES Inspector: Li Address: 221 11TH ST Block/Lot: 3517 030 Directors Order No: 108807-A Owner Address: DON RAMON'S REAL ESTATE LLC % LEONILA RAMIREZ 225 11TH ST SAN FRANCISCO CA 94103	Supervisor District: 6 Assessment of Costs: \$1,251.36 Interest @10 percent: \$125.14 Subtotal: \$1,376.50 Lien Recordation Charges: \$173.91 Total: \$1,550.41
12 Division: CES Inspector: Li Address: 221 11TH ST Block/Lot: 3517 030 Directors Order No: 108807-A Owner Address: DON RAMON'S REAL ESTATE LLC % LEONILA RAMIREZ 225 11TH ST SAN FRANCISCO CA 94103	Supervisor District: 6 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
13 Division: CES Inspector: Greene Address: 414 12TH AV Block/Lot: 1533 037 Directors Order No: 109082-A Owner Address: BOUTIKIA LLC 1288 COLUMBUS AVE #451 SAN FRANCISCO CA 94133	Supervisor District: 1 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
14 Division: CES Inspector: Gunnell Address: 1391 12TH AV Block/Lot: 1767 020C Directors Order No: 107858-A Owner Address: GEHRING MARGARET FELDBERGSTRABE 73 71067 SINDELFINGEN GERMA	Supervisor District: 5 Assessment of Costs: \$1,015.56 Interest @10 percent: \$101.56 Subtotal: \$1,117.12 Lien Recordation Charges: \$173.91 Total: \$1,291.03
15 Division: CES Inspector: Li Address: 205 14TH AV Block/Lot: 1419 001 Directors Order No: 108836-A Owner Address: ALMA GUERRERO BACHRACH LIVI ALMA BACHRACH TRUSTEE	Supervisor District: 1 Assessment of Costs: \$1,676.82 Interest @10 percent: \$167.68 Subtotal: \$1,844.50 Lien Recordation

ALMA BACHRACH TRUSTEE

310 TAHITI WAY #308 MARINA DEL REY CA 90292

Page 4

of 88

Code Enforcement Cases			
April 23, 2018		Sorted By Address C	ity Wide
16 Division: CES Address: 205 14TH AV	Inspector: Li	Supervisor District: 1 Assessment of Costs:	\$386.40
Block/Lot: 1419 001		Interest @10 percent:	\$38.64
Directors Order No: 108836-A		Subtotal:	\$425.04
Owner Address: ALMA GUERRERO ALMA BACHRACH TRUSTI 310 TAHITI WAY #308	EE	Lien Recordation Charges:	\$173.91
MARINA DEL REY CA 9029	2	Total:	\$598.95
17 Division: CES Address: 205 14TH AV	Inspector: Li	Supervisor District: 1 Assessment of Costs:	\$193.44
Block/Lot: 1419 001		Interest @10 percent:	\$19.34
Directors Order No: 108836-A		Subtotal:	\$212.78
Owner Address: ALMA GUERRERO ALMA BACHRACH TRUSTI 310 TAHITI WAY #308		Lien Recordation Charges:	\$173.91
MARINA DEL REY CA 9029	2	Total:	\$386.69
18 Division: CES Address: 1472 15TH ST	Inspector: Gutierrez	Supervisor District: 6 Assessment of Costs:	\$96.72
Block/Lot: 3549 025		Interest @10 percent:	\$9.67
Directors Order No: 109093-A		Subtotal:	\$106.39
Owner Address: SHIN RICHARD 3750 LAS VEGAS BLVD #32	07	Lien Recordation Charges:	\$173.91
LAS VEGAS CA 89158		Total:	\$280.30
19 Division: CES Address: 1472 15TH ST	Inspector: Gutierrez	Supervisor District: 6 Assessment of Costs:	\$1,597.05
Block/Lot: 3549 025		Interest @10 percent:	\$159.71
Directors Order No: 109093-A	·	Subtotal:	\$1,756.76
Owner Address: SHIN RICHARD	0.7	Lien Recordation	,
3750 LAS VEGAS BLVD #32 LAS VEGAS CA	07	Charges:	\$173.91
89158		Total:	\$1,930.67
20 Division: CES	Inspector: Gutierrez	Supervisor District: 6	
Address: 1472 15TH ST		Assessment of Costs:	\$822.12
Block/Lot: 3549 025		Interest @10 percent:	\$82.21
Directors Order No: 109093-A		Subtotal:	\$904.33
Owner Address: SHIN RICHARD 3750 LAS VEGAS BLVD #32 LAS VEGAS CA	07	Lien Recordation Charges:	\$173.91
89158	•	Total:	\$1,078.24

Page 5

of 88

April 23, 2018	Sorted By Address City Wide
21 Division: CES Inspector: Gutierrez Address: 1637 15TH ST Block/Lot: 3554 055 Directors Order No: Owner Address: MISSION HOUSING DEVELOP COR	Supervisor District: 6 Assessment of Costs: \$290.16 Interest @10 percent: \$29.02 Subtotal: \$319.18
474 VALENCIA ST # 280 SAN FRANCISCO CA 94103	Lien Recordation Charges: \$173.91 Total: \$493.09
22 Division: CES Inspector: Gutierrez Address: 718 16TH AV Block/Lot: 1658 029	Supervisor District: 1 Assessment of Costs: \$1,692.60
Directors Order No: Owner Address: GREWALL PAM K 1998 PACIFIC AVE	Interest @10 percent: \$169.26 Subtotal: \$1,861.86 Lien Recordation
SAN FRANCISCO CA 94109	Charges: \$173.91 Total: \$2,035.77
23 Division: CES Inspector: Li Address: 1741 16TH AV Block/Lot: 2033A 008	Supervisor District: 7 Assessment of Costs: \$241.80 Interest @10 percent: \$24.18
Directors Order No: Owner Address: DEVINE/DONOVAN REVOCABLE TR DEVINE JAMES E & DONOVAN MA 1741 16TH AVE SAN FRANCISCO CA 94122	Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89
24 Division: CES Inspector: Li Address: 3061 16TH AV Block/Lot: 3569 078 Directors Order No: Owner Address: MAHADEVA LLC 212 SUTTER ST 3RD FL SAN FRANCISCO CA 94108	Supervisor District: 6 Assessment of Costs: \$1,257.36 Interest @10 percent: \$125.74 Subtotal: \$1,383.10 Lien Recordation Charges: \$173.91 Total: \$1,557.01
25 Division: CES Inspector: Keane Address: 2340 17TH AV Block/Lot: 2345A 033 Directors Order No: 109040-A Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
	·

Page 6

of 88

April 23, 2018	Sorted By Address City Wide
26 Division: CES Inspector: Keane Address: 2340 17TH AV Block/Lot: 2345A 033 Directors Order No: 109040-A Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$1,157.12 Interest @10 percent: \$115.71 Subtotal: \$1,272.83 Lien Recordation Charges: \$173.91 Total: \$1,446.74
27 Division: CES Inspector: Keane Address: 2340 17TH AV Block/Lot: 2345A 033 Directors Order No: 109040-A Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
28 Division: CES Inspector: Li Address: 2371 17TH AV Block/Lot: 2346 008A Directors Order No: 109165-A Owner Address: LEE ANDREW 1327 TARAVAL ST SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
29 Division: CES Inspector: Li Address: 2371 17TH AV Block/Lot: 2346 008A Directors Order No: 109165-A Owner Address: LEE ANDREW 1327 TARAVAL ST SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$1,254.85 Interest @10 percent: \$125.49 Subtotal: \$1,380.34 Lien Recordation Charges: \$173.91 Total: \$1,554.25
30 Division: CES Inspector: Li Address: 3250 17TH ST Block/Lot: 3570 016 Directors Order No: Owner Address: COOPERSMITH JOEL 30 HERON DR MILL VALLEY CA 94941	Supervisor District: 6 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69

Page 7

of 88

April 23, 2018	Sorted By Address City Wide
31 Division: CES Inspector: Keane Address: 3095 19TH AV Block/Lot: 7219 004A Directors Order No: 108952-A Owner Address: LIM MARIA V S & MARIA V S 3095 19TH AVE SAN FRANCISCO CA 94132	Supervisor District: 7 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
32 Division: CES Inspector: Keane Address: 3095 19TH AV Block/Lot: 7219 004A Directors Order No: 108952-A Owner Address: LIM MARIA V S & MARIA V S 3095 19TH AVE SAN FRANCISCO CA 94132	Supervisor District: 7 Assessment of Costs: \$1,717.16 Interest @10 percent: \$171.72 Subtotal: \$1,888.88 Lien Recordation Charges: \$173.91 Total: \$2,062.79
33 Division: CES Inspector: Ng Address: 4020 4022 19TH ST Block/Lot: 3583 018 Directors Order No: 108982-A Owner Address: XELAN PROP 1 LLC PO BOX 691889 LOS ANGELES CA 90069	Supervisor District: 8 Assessment of Costs: \$1,147.95 Interest @10 percent: \$114.80 Subtotal: \$1,262.75 Lien Recordation Charges: \$173.91 Total: \$1,436.66
34 Division: CES Inspector: Ng Address: 4020 4022 19TH ST Block/Lot: 3583 018 Directors Order No: 108982-A Owner Address: XELAN PROP 1 LLC PO BOX 691889 LOS ANGELES CA 90069	Supervisor District: 8 Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
35 Division: CES Inspector: Li Address: 4400 19TH ST Block/Lot: 2692 045 Directors Order No: Owner Address: GLOVER MICHAEL & BALDERAMOS 4400 19TH ST #1 SAN FRANCISCO CA 94114	Supervisor District: 8 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69

Page 8

of 88

April 23, 2018		Sorted By Address C	ity Wide
36 Division: HIS Address: 3491 20TH ST	Inspector: Lopez	Supervisor District: 9 Assessment of Costs:	\$759.82
Block/Lot: 3610 029	٨	Interest @10 percent:	\$75.98
Directors Order No: 200448143	- A	Subtotal:	\$835.80
Owner Address: 20MISSION SF LLC 3491 20TH ST SAN FRANCISCO CA	;	Lien Recordation Charges:	\$173.91
94110		Total:	\$1,009.71
37 Division: CES Address: 1235 21ST AV	Inspector: Ng	Supervisor District: 4 Assessment of Costs:	\$96.72
Block/Lot: 1729 006		Interest @10 percent:	\$9.67
Directors Order No: 108890-A		Subtotal:	\$106.39
Owner Address: KITTY QUAN TRUE 1235 21ST AVE SAN FRANCISCO CA	ST	Lien Recordation Charges:	\$173.91
94122		Total:	\$280.30
38 Division: CES Address: 1235 21ST AV	Inspector: Ng	Supervisor District: 4 Assessment of Costs:	\$1,124.28
Block/Lot: 1729 006		Interest @10 percent:	\$112.43
Directors Order No: 108890-A		Subtotal:	\$1,236.71
Owner Address: KITTY QUAN TRUS 1235 21ST AVE SAN FRANCISCO CA	ST	Lien Recordation Charges:	\$173.91
94122		Total:	\$1,410.62
Address: 1235 21ST AV	Inspector: Ng	Supervisor District: 4 Assessment of Costs:	\$145.08
Block/Lot: 1729 006		Interest @10 percent:	\$14.51
Directors Order No: 108890-A		Subtotal:	\$159.59
Owner Address: KITTY QUAN TRUS 1235 21ST AVE SAN FRANCISCO CA	ST	Lien Recordation Charges:	\$173.91
94122		Total:	\$333.50
40 Division: CES Address: 1535 21ST AV	Inspector: Ng	Supervisor District: 4 Assessment of Costs:	\$0.00
Block/Lot: 1867 005		Interest @10 percent:	\$0.00
Directors Order No: 108863-A		Subtotal:	\$0.00
Owner Address: WENDY MASTERS WENDY MASTERSON, TRU		Lien Recordation Charges:	\$173.91
1535 21ST AVE SAN FRANCISCO CA 94122	2	Total:	\$173.91

Page 9

of 88

Code Enforcement Cases

	Code Enforcement Cases		
April 23, 2018		Sorted By Address C	City Wide
41 Division: HIS	Inspector: Olivares	Supervisor District: 1	
Address: 310 22ND AV		Assessment of Costs:	\$2,420.84
Block/Lot: 1453 041A	·	Interest @10 percent:	\$242.08
Directors Order No: 201622931	- A	Subtotal:	\$2,662.92
Owner Address: SOUSA MARIA L 312 22ND AVE SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94121		Total:	\$2,836.83
42 Division: CES	Inspector: Li	Supervisor District: 9	
Address: 2995 22ND ST		Assessment of Costs:	\$290.16
Block/Lot: 3639 013		Interest @10 percent:	\$29.02
Directors Order No:		Subtotal:	\$319.18
Owner Address: GOLDSTEIN PHILI LAUREL REALTY 294 29TH ST	IP	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 9413	1	Total:	\$493.09
43 Division: CES Address: 2995 22ND ST	Inspector: Li	Supervisor District: 9 Assessment of Costs:	\$48.36
Block/Lot: 3639 013		Interest @10 percent:	\$4.84
Directors Order No:		Subtotal:	\$53.20
Owner Address: GOLDSTEIN PHILI LAUREL REALTY	P	Lien Recordation Charges:	\$173.91
294 29TH ST SAN FRANCISCO CA 9413	1	Total:	\$227.11
44 Division: CES	Inspector: Keane	Supervisor District: 1	0
Address: 601 25TH ST		Assessment of Costs:	
Block/Lot: 4298 001		Interest @10 percent:	\$19.34
Directors Order No: 108471-A		Subtotal:	\$212.78
Owner Address: REDEVELOPMENT % DIRECTOR OF PROPERT 770 GOLDEN GATE AVE		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94102	2	Total:	\$386.69
45 Division : CES	Inspector: Gutierrez	Supervisor District: 9	
Address: 3076 26TH ST	-	Assessment of Costs:	\$241.80
Block/Lot: 4271 018		Interest @10 percent:	\$24.18
Directors Order No: 108578-A		Subtotal:	\$265.98
Owner Address: 3076-78 26TH STRE 1110 BURNETT AVE STE E CONCORD CA		Lien Recordation Charges:	\$173.91

Total:

\$439.89

94520

Page 10 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

Code Enforcement Cases		
April 23, 2018	Sorted By Address City Wide	
46 Division: CES Inspector: Gutierrez Address: 3076 26TH ST	Supervisor District: 9 Assessment of Costs: \$1,545.71	
Block/Lot: 4271 018	Interest @10 percent: \$154.57	
Directors Order No: 108578-A	Subtotal: \$1,700.28	
Owner Address: 3076-78 26TH STREET INC 1110 BURNETT AVE STE E CONCORD CA	Lien Recordation Charges: \$173.91	
94520	Total: \$1,874.19	
47 Division: CES Inspector: Keane Address: 4250 26TH ST	Supervisor District: 8 Assessment of Costs: \$290.16	
Block/Lot: 6555 019	Interest @10 percent: \$29.02	
Directors Order No:	Subtotal: \$319.18	
Owner Address: KUAN PATRICK KWAN EMILY & LUI FREDRICK 450 36TH AVE	Lien Recordation Charges: \$173.91	
SAN FRANCISCO CA 94121	Total: \$493.09	
48 Division: CES Inspector: Li Address: 60 28TH ST	Supervisor District: 8 Assessment of Costs: \$1,415.79	
Block/Lot: 6599 010	Interest @10 percent: \$141.58	
Directors Order No: 109088-A	Subtotal: \$1,557.37	
Owner Address: DATU MARITAL TRUST ANNETTE D BONIFACIO, TRUSTE 1493 CHURCH ST	Lien Recordation Charges: \$173.91	
SAN FRANCISCO CA 94131	Total: \$1,731.28	
49 Division: CES Inspector: Ng Address: 60 28TH ST	Supervisor District: 8 Assessment of Costs: \$1,147.95	
Block/Lot: 6599 010	Interest @10 percent: \$114.80	
Directors Order No: 108983-A	Subtotal: \$1,262.75	
Owner Address: DATU MARITAL TRUST ANNETTE D BONIFACIO, TRUSTE 1493 CHURCH ST	Lien Recordation Charges: \$173.91	
SAN FRANCISCO CA 94131	Total: \$1,436.66	
50 Division: CES Inspector: Ng Address: 60 28TH ST	Supervisor District: 8 Assessment of Costs: \$48.36	
Block/Lot: 6599 010	Interest @10 percent: \$4.84	
Directors Order No: 108983-A	Subtotal: \$53.20	
Owner Address: DATU MARITAL TRUST ANNETTE D BONIFACIO, TRUSTE 1493 CHURCH ST	Lien Recordation Charges: \$173.91	

Total:

\$227.11

SAN FRANCISCO CA 94131

Page 11 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
51 Division: CES Inspector: Gutierrez Address: 82 2ND ST Block/Lot: 3707 011 Directors Order No: 106294-A	Supervisor District: 6 Assessment of Costs: \$280.82 Interest @10 percent: \$28.08 Subtotal: \$308.90
Owner Address: LUCKY ZEUS LLC 1201 CALIFORNIA ST #902 SAN FRANCISCO CA 94109	Lien Recordation Charges: \$173.91 Total: \$482.81
52 Division: CES Inspector: Lei Address: 2732 35TH AV Block/Lot: 2503A 032 Directors Order No: 107190-A	Supervisor District: 4 Assessment of Costs: \$1,644.24 Interest @10 percent: \$164.42 Subtotal: \$1,808.66
Owner Address: TOM KATHERINE L & ELIZABETH 427 GLENHAVEN DR SPRING CREEK NV 89815	Lien Recordation Charges: \$173.91 Total: \$1,982.57
53 Division: CES Inspector: Lei Address: 2732 35TH AV Block/Lot: 2503A 032 Directors Order No: 107564-A	Supervisor District: 4 Assessment of Costs: \$1,402.44 Interest @10 percent: \$140.24 Subtotal: \$1,542.68
Owner Address: TOM KATHERINE L & ELIZABETH 427 GLENHAVEN DR SPRING CREEK NV 89815	Lien Recordation Charges: \$173.91 Total: \$1,716.59
54 Division: CES Inspector: Lei Address: 2732 35TH AV Block/Lot: 2503A 032 Directors Order No: 107564-A Owner Address: TOM KATHERINE L & ELIZABETH 427 GLENHAVEN DR SPRING CREEK NV 89815	Supervisor District: 4 Assessment of Costs: \$1,402.44 Interest @10 percent: \$140.24 Subtotal: \$1,542.68 Lien Recordation Charges: \$173.91 Total: \$1,716.59
55 Division: CES Inspector: Lei Address: 2732 35TH AV Block/Lot: 2503A 032 Directors Order No: 107190-A Owner Address: TOM KATHERINE L & ELIZABETH 427 GLENHAVEN DR SPRING CREEK NV 89815	Supervisor District: 4 Assessment of Costs: \$1,644.24 Interest @10 percent: \$164.42 Subtotal: \$1,808.66 Lien Recordation Charges: \$173.91 Total: \$1,982.57

Page 12 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
56 Division: CES Inspector: Li Address: 1251 37TH AV Block/Lot: 1713 010 Directors Order No: 109287-A Owner Address: CITADEL R E & INVESTMENTS L 425 1ST ST #3102 SAN FRANCISCO CA 94105	Supervisor District: 4 Assessment of Costs: \$241.80 Interest @10 percent: \$24.18 Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89
57 Division: CES Inspector: Li Address: 1251 37TH AV Block/Lot: 1713 010 Directors Order No: 109287-A Owner Address: CITADEL R E & INVESTMENTS L 425 1ST ST #3102 SAN FRANCISCO CA 94105	Supervisor District: 4 Assessment of Costs: \$1,194.49 Interest @10 percent: \$119.45 Subtotal: \$1,313.94 Lien Recordation Charges: \$173.91 Total: \$1,487.85
58 Division: CES Inspector: Gunnell Address: 1246 40TH AV Block/Lot: 1711 022D Directors Order No: 109372-A Owner Address: BELTRAN MICHAEL & DE LA ROS 1246 40TH AVE SAN FRANCISCO CA 94122	Supervisor District: 4 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
59 Division: CES Inspector: Gutierrez Address: 595 41ST AV Block/Lot: 1503 019A Directors Order No: Owner Address: GEORGE GNANA SELVIN 595 41ST AVE SAN FRANCISCO CA 94116	Supervisor District: 1 Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
60 Division: CES Inspector: Gunnell Address: 2278 42ND AV Block/Lot: 2308 022 Directors Order No: 109220-A Owner Address: PAUSON MAXINE 2278 42ND AVE SAN FRANCISCO CA 94116	Supervisor District: 4 Assessment of Costs: \$1,251.69 Interest @10 percent: \$125.17 Subtotal: \$1,376.86 Lien Recordation Charges: \$173.91 Total: \$1,550.77

Page 13 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
61 Division: CES Inspector: Gunnell Address: 2278 42ND AV Block/Lot: 2308 022 Directors Order No: 109221-A Owner Address: PAUSON MAXINE 2278 42ND AVE SAN FRANCISCO CA 94116	Supervisor District: 4 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
62 Division: CES Inspector: Gunnell Address: 2278 42ND AV Block/Lot: 2308 022 Directors Order No: 109221-A Owner Address: PAUSON MAXINE 2278 42ND AVE SAN FRANCISCO CA 94116	Supervisor District: 4 Assessment of Costs: \$917.82 Interest @10 percent: \$91.78 Subtotal: \$1,009.60 Lien Recordation Charges: \$173.91 Total: \$1,183.51
63 Division: CES Inspector: Gunnell Address: 2278 42ND AV Block/Lot: 2308 022 Directors Order No: 109220-A Owner Address: PAUSON MAXINE 2278 42ND AVE SAN FRANCISCO CA 94116	Supervisor District: 4 Assessment of Costs: \$1,789.32 Interest @10 percent: \$178.93 Subtotal: \$1,968.25 Lien Recordation Charges: \$173.91 Total: \$2,142.16
64 Division: CES Inspector: Gutierrez Address: 638 45TH AV Block/Lot: 1587 031 Directors Order No: 108934-A Owner Address: NICHOLAS A KASKANLIAN 2006 1813 HILLMAN AVE BELMONT CA 94002	Supervisor District: 1 Assessment of Costs: \$1,115.44 Interest @10 percent: \$111.54 Subtotal: \$1,226.98 Lien Recordation Charges: \$173.91 Total: \$1,400.89
65 Division: CES Inspector: Ng Address: 1388 46TH AV Block/Lot: 1800 010D Directors Order No: 108805 -A Owner Address: LEE THOMAS C & LEONA G 10 BAINBRIDGE SQ ALAMEDA CA 94501	Supervisor District: 4 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30

April 23, 2018	Sorted By Address City Wide
66 Division: CES Inspector: Ng Address: 1388 46TH AV	Supervisor District: 4 Assessment of Costs: \$1,523.86
Block/Lot: 1800 010D	Interest @10 percent: \$152.39
Directors Order No: 108805 -A	Subtotal: \$1,676.25
Owner Address: LEE THOMAS C & LEONA G 10 BAINBRIDGE SQ ALAMEDA CA	Lien Recordation Charges: \$173.91
94501	Total: \$1,850.16
67 Division: CES Inspector: Li	Supervisor District: 4
Address: 2095 46TH AV	Assessment of Costs: \$96.72
Block/Lot: 2166 024	Interest @10 percent: \$9.67
Directors Order No:	Subtotal: \$106.39
Owner Address: CHIO LENG CHEONG REVOC TRUS CHIO LENG CHEONG TRUSTEE 171 LEE AVENUE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94112	Total: \$280.30
68 Division: CES Inspector: Mather	Supervisor District: 10
Address: 76V ALDER ST	Assessment of Costs: \$822.12
Block/Lot: 6166 · 016	Interest @10 percent: \$82.21
Directors Order No: 106237-A	Subtotal: \$904.33
Owner Address: SINAPOPO MELE T A AFUHAAMAN 76V ALDER ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94102	Total: \$1,078.24
69 Division: CES Inspector: Keane	Supervisor District: 1
Address: 5324 ANZA ST	Assessment of Costs: \$96.72
Block/Lot: 1500 019	Interest @10 percent: \$9.67
Directors Order No: 109065-A	Subtotal: \$106.39
Owner Address: YU FAMILY TRUST FRANK & TAMMY YU, TRUSTEES 5324 ANZA ST	Lien Recordation Charges: \$173,91
SAN FRANCISCO CA 94121	Total: \$280.30
70 Division: CES Inspector: Keane	Supervisor District: 1
Address: 5324 ANZA ST	Assessment of Costs: \$1,275.69
Block/Lot: 1500 019	Interest @10 percent: \$127.57
Directors Order No: 109065-A	Subtotal: \$1,403.26
Owner Address: YU FAMILY TRUST FRANK & TAMMY YU, TRUSTEES 5324 ANZA ST	Lien Recordation Charges: \$173,91
SAN FRANCISCO CA 94121	Total: \$1,577.17

Code Enforcement Cases

April	23,	2018
-------	-----	------

Sorted By Address City Wide

71 Division: CES	Inspector: Keane	Supervisor District: 1	
Address: 5324 ANZA ST		Assessment of Costs:	\$48.36
Block/Lot: 1500 019		Interest @10 percent:	\$4.84
Directors Order No: 109065-A		Subtotal:	\$53.20
Owner Address: YU FAMILY TRUS FRANK & TAMMY YU, T 5324 ANZA ST		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 9412	21	Total:	\$227.11
72 Division: CES	Inspector: Li	Supervisor District: 11	1
Address: 36 ASHTON AV		Assessment of Costs:	\$1,379.10
Block/Lot: 7012 031		Interest @10 percent:	\$137.91
Directors Order No: 109201-A		Subtotal:	\$1,517.01
Owner Address: WOODRUFF JOHN 36 ASHTON AVE SAN FRANCISCO CA	N III & IVAN MO	Lien Recordation Charges:	\$173.91
94112		Total:	\$1,690.92
73 Division: CES	Inspector: Gutierrez	Supervisor District: 11	(
Address: 110 ASHTON AV	k	Assessment of Costs:	\$1,306.38
Block/Lot: 6987 023		Interest @10 percent:	\$130.64
Directors Order No: 109007-A		Subtotal:	\$1,437.02
Owner Address: MULATA FE N 110 ASHTON AVE SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$1,610.93
74 Division: CES	Inspector: Gutierrez	Supervisor District: 11	[
Address: 110 ASHTON AV		Assessment of Costs:	\$531.96
Block/Lot: 6987 023		Interest @10 percent:	\$53.20
Directors Order No: 109007-A		Subtotal:	\$585.16
Owner Address: MULATA FE N		Lien Recordation	
110 ASHTON AVE SAN FRANCISCO CA		Charges:	\$173.91
94112		Total:	\$759.07
75 Division: CES	Inspector: Ng	Supervisor District: 11	/
Address: 575 ATHENS ST		Assessment of Costs:	\$1,886.04
Block/Lot: 6092 018		Interest @10 percent:	\$188.60
Directors Order No:		Subtotal:	\$2,074.64
Owner Address: OROPEZA RAMOR 645 FRANCE AVE SAN FRANCISCO CA	N JR & ROSEMARY	Lien Recordation Charges:	\$173.91
94112		Total:	\$2,248.55

April 23, 2018	Sorted By Address C	ity Wide
76 Division: CES Inspecto Address: 618 BAKER ST	r: Gutierrez Supervisor District: 5 Assessment of Costs:	\$1,901.40
Block/Lot: 1178 015	Interest @10 percent:	\$190.14
Directors Order No: 109129-A	Subtotal:	\$2,091.54
Owner Address: FERRY PATRICK F 618 BAKER ST SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94117	Total:	\$2,265.45
77 Division: CES Inspecto	r: Gutierrez Supervisor District: 5	
Address: 618 BAKER ST	Assessment of Costs:	\$2,224.50
Block/Lot: 1178 015	Interest @10 percent:	\$222.45
Directors Order No: 109129-A	Subtotal:	\$2,446.95
Owner Address: FERRY PATRICK F 618 BAKER ST SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94117	Total:	\$2,620.86
•	r: Keane Supervisor District: 7	фо <i>С</i> П 00
Address: 2 BANBURY DR	Assessment of Costs:	\$267.82
Block/Lot: 7242 012 Directors Order No: 108278-A	Interest @10 percent:	\$26.78
Owner Address: CHOW JOHN & TAMMIE W	Subtotal:	\$294.60
2 BANBURY DR SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94132	Total:	\$468.51
79 Division: CES Inspecto	r: Keane Supervisor District: 7	
Address: 2 BANBURY DR	Assessment of Costs:	\$338.52
Block/Lot: 7242 012	Interest @10 percent:	\$33.85
Directors Order No: 108278-A	Subtotal:	\$372.37
Owner Address: CHOW JOHN & TAMMIE W 2 BANBURY DR	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94132	Total:	\$546.28
80 Division: CES Inspector Address: 212 BANKS ST	r: Gunnell Supervisor District: 9 Assessment of Costs:	\$96.72
Block/Lot: 5659 005		
Directors Order No:	Interest @10 percent:	
Owner Address: SINGH ANSHU & ROGERS I	Subtotal:	\$106.39
212 BANKS ST SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94110	Total:	\$280.30

of 88 Page 17

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES Code Enforcement Cases

April 23, 2018	G / I Dr. Address City Wide
April 25, 2016	Sorted By Address City Wide
81 Division: CES Inspector: Ng Address: 494 BAYVIEW CR	Supervisor District: 10 Assessment of Costs: \$0.00
Block/Lot: 5335A 057	Interest @10 percent: \$0.00
Directors Order No: 108938-A	Subtotal: \$0.00
Owner Address: CHRISTOPHER LAMB LIVING TR LAMB CHRISTOPHER TRUSTEE 494 BAYVIEW CIR SAN FRANCISCO CA 94124	Lien Recordation Charges: \$173.91 Total: \$173.91
	10tai: \$1/3.91
82 Division: CES Inspector: Ng Address: 494 BAYVIEW CR	Supervisor District: 10 Assessment of Costs: \$241.80
Block/Lot: 5335A 057	Interest @10 percent: \$24.18
Directors Order No: 108938-A	Subtotal: \$265.98
Owner Address: CHRISTOPHER LAMB LIVING TR LAMB CHRISTOPHER TRUSTEE 494 BAYVIEW CIR	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94124	Total: \$439.89
83 Division: CES Inspector: Ng Address: 494 BAYVIEW CR	Supervisor District: 10 Assessment of Costs: \$241.80
Block/Lot: 5335A 057	Interest @10 percent: \$24.18
Directors Order No: 108938-A	Subtotal: \$265.98
Owner Address: CHRISTOPHER LAMB LIVING TR LAMB CHRISTOPHER TRUSTEE 494 BAYVIEW CIR	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94124	Total: \$439.89
84 Division: CES Inspector: Keane Address: 185 BELGRAVE AV	Supervisor District: 7 Assessment of Costs: \$48.36
Block/Lot: 2345A 033	Interest @10 percent: \$4.84
Directors Order No: 109040-A	Subtotal: \$53.20
Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94116	Total: \$227.11
85 Division: CES Inspector: Keane	Supervisor District: 7
Address: 185 BELGRAVE AV	Assessment of Costs: \$1,157.12
Block/Lot: 2345A 033	Interest @10 percent: \$115.71
Directors Order No: 109040-A	Subtotal: \$1,272.83
Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA	

94116

Total:

\$1,446.74

Page 18 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
86 Division: CES Inspector: Keane Address: 185 BELGRAVE AV Block/Lot: 2345A 033 Directors Order No: 109040-A Owner Address: KORZHENKOV MAKSIM & ELMIRA 2340 17TH AVE SAN FRANCISCO CA 94116	Supervisor District: 7 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
87 Division: CES Inspector: Li Address: 1611 BRODERICK ST Block/Lot: 1053 003 Directors Order No: 109387 A Owner Address: BRODERICK STREET TRUST DAVON JO BOLLA TRUSTEE 7172 REGIONAL ST STE 362 DUBLIN CA 94568	Supervisor District: 5 Assessment of Costs: \$1,644.24 Interest @10 percent: \$164.42 Subtotal: \$1,808.66 Lien Recordation Charges: \$173.91 Total: \$1,982.57
88 Division: CES Inspector: Cuneo Address: 2655 BRODERICK ST Block/Lot: 0955 002 Directors Order No: 104988-A Owner Address: CASEY FAMILY TRUST MARK L & CARRIE GAISER CASE 2655 BRODERICK ST SAN FRANCISCO CA 94123	Supervisor District: 2 Assessment of Costs: \$478.44 Interest @10 percent: \$47.84 Subtotal: \$526.28 Lien Recordation Charges: \$173.91 Total: \$700.19
89 Division: CES Inspector: Greene Address: 1026 BRUSSELS ST Block/Lot: 6170 042 Directors Order No: Owner Address: SYLVIA J THOMPSON TRUST 1026 BRUSSELS ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$531.96 Interest @10 percent: \$53.20 Subtotal: \$585.16 Lien Recordation Charges: \$173.91 Total: \$759.07
90 Division: CES Inspector: Gutierrez Address: 2367 BRYANT ST Block/Lot: 4144 024 Directors Order No: Owner Address: MARIK RICHARD E 2648 BRYANT ST SAN FRANCISCO CA 94110	Supervisor District: 9 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69

Page 19 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

		Code Emforcement Cases		
April 23	3, 2018	·	Sorted By Address C	ity Wide
91	Division: CES	Inspector: Li	Supervisor District: 8	
Address:	78 BUCHANAN ST	·	Assessment of Costs:	\$96.72
Block/Lot	: 0872 009		Interest @10 percent:	\$9.67
Directors	Order No: 109181-A	•	Subtotal:	\$106.39
Owner Ac	ddress: LSL PROPERTIES STEVEN C. THROWER 600 CALIFORNIA ST 2011		Lien Recordation Charges:	\$173.91
	SAN FRANCISCO CA 941	08	Total:	\$280.30
92	Division: CES	Inspector: Gutierrez	Supervisor District: 5	
Address:	1200 BUCHANAN ST		Assessment of Costs:	\$338.52
Block/Lot	: 0747 001		Interest @10 percent:	\$33.85
Directors	Order No:		Subtotal:	\$372.37
Owner Ac		SOCS LP-LESSEE	Lien Recordation	
	440 TURK STREET SAN FRANCISCO CA		Charges:	\$173.91
	94102		Total:	\$546.28
93	Division: CES	Inspector: Gutierrez	Supervisor District: 5	
Address:	1200 BUCHANAN ST		Assessment of Costs:	\$338.52
Block/Lot:	: 0747 001	·	Interest @10 percent:	\$33.85
Directors	Order No:		Subtotal:	\$372.37
Owner Ad	ldress: PLAZA EAST ASS 440 TURK STREET SAN FRANCISCO CA	SOCS LP-LESSEE	Lien Recordation Charges:	\$173.91
	94102		Total:	\$546.28
94	Division: HIS	Inspector: Mak	Supervisor District: 1	·
Address:	139 CAINE AV		Assessment of Costs:	
Block/Lot:	7062 041		Interest @10 percent:	\$231.81
Directors	Order No: 201689092	- A	Subtotal:	\$2,549.87
Owner Ad	AUGUSTO APOLONLO	JSTO A	Lien Recordation Charges:	\$173.91
	1301 CLAY ST #1350N OAKLAND CA 94612		Total:	\$2,723.78
95	Division: HIS	Inspector: Mak	Supervisor District: 1	1
Address:	139 CAINE AV	•	Assessment of Costs:	\$1,254.14
Block/Lot:	7062 041		Interest @10 percent:	\$125.41
Directors	Order No: 201692161	- A	Subtotal:	\$1,379.55
Owner Ad		JSTO A	Lien Recordation	
	AUGUSTO APOLONLO 1301 CLAY ST #1350N		Charges:	\$173.91
	OAKI AND CA 04612	•	Totale	Φ1 552 AC

Total:

\$1,553.46

OAKLAND CA 94612

Page 20 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

April 23	5, 2018
----------	---------

Sorted By Address City Wide

	Softed by Address City Wide
96 Division: CES Inspector: Li Address: 5301 CALIFORNIA ST Block/Lot: 1418 001 Directors Order No: Owner Address: SF KOREAN PRESBYTERIAN CHUR % KWANG-IL LEE 5301 CALIFORNIA ST SAN FRANCISCO CA 94118	Supervisor District: 1 Assessment of Costs: \$725.40 Interest @10 percent: \$72.54 Subtotal: \$797.94 Lien Recordation Charges: \$173.91 Total: \$971.85
97 Division: HIS Inspector: Shiu Address: 215 CAPISTRANO AV Block/Lot: 3146 002 Directors Order No: 201626442 - A Owner Address: KARUSSOS JOSEPH KARUSSOS CHRISTINE, EUGENE, 215 CAPISTRANO AVE SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$1,383.85 Interest @10 percent: \$138.39 Subtotal: \$1,522.24 Lien Recordation Charges: \$173.91 Total: \$1,696.15
98 Division: CES Inspector: Gunnell Address: 227 CAPITOL AV Block/Lot: 7114 003 Directors Order No: 107435-A Owner Address: GIRON JAVIER 5580 MISSION ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$870.48 Interest @10 percent: \$87.05 Subtotal: \$957.53 Lien Recordation Charges: \$173.91 Total: \$1,131.44
99 Division: CES Inspector: Gunnell Address: 76 CARRIZAL ST Block/Lot: 6324 008 Directors Order No: 109222-A Owner Address: ESTRADA EDWARD V 76 CARRIZAL ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
100 Division: CES Inspector: Gunnell Address: 76 CARRIZAL ST Block/Lot: 6324 008 Directors Order No: 109222-A Owner Address: ESTRADA EDWARD V 76 CARRIZAL ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$996.87 Interest @10 percent: \$99.69 Subtotal: \$1,096.56 Lien Recordation Charges: \$173.91 Total: \$1,270.47

Page 21 of 88

\$661.89

Total:

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

Code Enforcement C	ases
April 23, 2018	Sorted By Address City Wide
101 Division: CES Inspector: Ng	Supervisor District: 10
Address: 2059 CARROLL AV	Assessment of Costs: \$96.72
Block/Lot: 5435 027	Interest @10 percent: \$9.67
Directors Order No: 108937-A	Subtotal: \$106.39
Owner Address: HUANG YAN E & RUAN JUN JIE 2059 CARROLL AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94124	Total: \$280.30
102 Division: CES Inspector: Ng	Supervisor District: 10
Address: 2059 CARROLL AV	Assessment of Costs: \$1,309.22
Block/Lot: 5435 027	Interest @10 percent: \$130.92
Directors Order No: 108937-A	Subtotal: \$1,440.14
Owner Address: HUANG YAN E & RUAN JUN JIE 2059 CARROLL AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94124	Total: \$1,614.05
103 Division: CES Inspector: Li Address: 45 CERVANTES BL	Supervisor District: Assessment of Costs: \$1,054.12
Block/Lot: 0462A 049	Interest @10 percent: \$105.41
Directors Order No: 108767-A	Subtotal: \$1,159.53
Owner Address: KUEMMELER FAMILY TRUST	Lien Recordation
105 STEPHANIE LN ALAMO CA	Charges: \$173.91
94507	Total: \$1,333.44
104 Division: CES Inspector: Li	Supervisor District:
Address: 45 CERVANTES BL	Assessment of Costs: \$193.44
Block/Lot: 0462A 049	Interest @10 percent: \$19.34
Directors Order No: 108767-A	Subtotal: \$212.78
Owner Address: KUEMMELER FAMILY TRUST 105 STEPHANIE LN ALAMO CA	Lien Recordation Charges: \$173.91
94507	Total: \$386.69
105 Division: HIS Inspector: Coble	Supervisor District: 8
Address: 727 733 CHENERY ST	Assessment of Costs: \$443.62
Block/Lot: 6744 016	Interest @10 percent: \$44.36
Directors Order No: 200926156 - A	Subtotal: \$487.98
Owner Address: BU LI WEN 3 RIO CT	Lien Recordation Charges: \$173.91
BURLINGAME CA	Total: \$661.80

94010

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES Code Enforcement Cases

April 23, 2018	Sorted By Address City Wide
106 Division: CES Inspector: Li Address: 1680 CLAY ST	Supervisor District: 3 Assessment of Costs: \$145.00
Block/Lot: 0620 014	Interest @10 percent: \$14.50
Directors Order No: 108700-A	Subtotal: \$159.50
Owner Address: CHANG TAN FAMILY TRUST AMY H C CHANG & TIAN H TAN, 1714 GREENWICH ST #3	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$333.41
107 Division: CES Inspector: Li Address: 1680 CLAY ST	Supervisor District: 3 Assessment of Costs: \$346.87
Block/Lot: 0620 014	Interest @10 percent: \$34.69
Directors Order No: 108700-A	Subtotal: \$381.56
Owner Address: CHANG TAN FAMILY TRUST	Lien Recordation
AMY H C CHANG & TIAN H TAN, 1714 GREENWICH ST #3	Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$555.47
108 Division: CES Inspector: Li	Supervisor District: 3
Address: 1680 CLAY ST	Assessment of Costs: \$435.24
Block/Lot: 0620 014	Interest @10 percent: \$43.52
Directors Order No: 108700-A	Subtotal: \$478.76
Owner Address: CHANG TAN FAMILY TRUST AMY H C CHANG & TIAN H TAN, 1714 GREENWICH ST #3	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$652.67
109 Division: CES Inspector: Li	Supervisor District: 3
Address: 1680 CLAY ST	Assessment of Costs: \$1,193.15
Block/Lot: 0620 014	Interest @10 percent: \$119.32
Directors Order No: 108700-A	Subtotal: \$1,312.47
Owner Address: CHANG TAN FAMILY TRUST AMY H C CHANG & TIAN H TAN, 1714 GREENWICH ST #3	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$1,486.38
110 Division: HIS Inspector: Wohlers	Supervisor District: 10
Address: 844 COLBY ST	Assessment of Costs: \$2,052.07
Block/Lot: 6147 004A	Interest @10 percent: \$205.21
Directors Order No: 201524271 - A	Subtotal: \$2,257.28
Owner Address: EAGLE VISTA EQUITIES LLC 2015 MANHATTAN BEACH BL #10 REDONDO BEACH CA	Lien Recordation Charges: \$173.91
90278	Total: \$2,431.19

Page 23 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
111 Division: CES Inspector: Mather Address: 763 COLE ST Block/Lot: 1261 004 Directors Order No: 107306-A Owner Address: GRIFFITH CLOUDIE BELL ESTAT 763 COLE ST SAN FRANCISCO CA 94117	Supervisor District: 5 Assessment of Costs: \$870.48 Interest @10 percent: \$87.05 Subtotal: \$957.53 Lien Recordation Charges: \$173.91 Total: \$1,131.44
112 Division: CES Inspector: Keane Address: 300 COLUMBUS AV Block/Lot: 0145 013 Directors Order No: 109128-A Owner Address: REESE CHARLES W TRUSTEE % CHARLES REESE 89 LA SALLE AVE PIEDMONT CA 94611	Supervisor District: 3 Assessment of Costs: \$1,048.04 Interest @10 percent: \$104.80 Subtotal: \$1,152.84 Lien Recordation Charges: \$173.91 Total: \$1,326.75
113 Division: CES Inspector: Gunnell Address: 21 CORA ST Block/Lot: 6252 017 Directors Order No: 109301-A Owner Address: SZE CHI FOO & HUNG SAU LAU 21 CORA ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69
114 Division: CES Inspector: Gunnell Address: 21 CORA ST Block/Lot: 6252 017 Directors Order No: 109301-A Owner Address: SZE CHI FOO & HUNG SAU LAU 21 CORA ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$435.24 Interest @10 percent: \$43.52 Subtotal: \$478.76 Lien Recordation Charges: \$173.91 Total: \$652.67
115 Division: CES Inspector: Ng Address: 771 CORBETT AV Block/Lot: 2763 035 Directors Order No: 108946-A Owner Address: TLG CAPITAL DEVELOPMENT LLC 2269 CHESTNUT ST SAN FRANCISCO CA 94123	Supervisor District: 8 Assessment of Costs: \$957.35 Interest @10 percent: \$95.74 Subtotal: \$1,053.09 Lien Recordation Charges: \$173.91 Total: \$1,227.00

Page 24 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

April 2	3, 2018
---------	---------

Sorted By Address City Wide

Division: CES	Inspector: Ng	Supervisor District: 8	
Address: 771 CORBETT AV		Assessment of Costs: \$1,209.00	
Block/Lot: 2763 035		Interest @10 percent: \$120.90	
Directors Order No: 108946-A		Subtotal: \$1,329.90	
Owner Address: TLG CAPITAL I 2269 CHESTNUT ST SAN FRANCISCO CA	DEVELOPMENT LLC	Lien Recordation Charges: \$173.91	
94123		Total: \$1,503.81	
117 Division: CES	Inspector: Li	Supervisor District: 7	
Address: 57 COUNTRY CLUB	3 DR	Assessment of Costs: \$241.80	
Block/Lot: 7277 024		Interest @10 percent: \$24.18	
Directors Order No: 109307-A		Subtotal: \$265.98	
Owner Address: KURNOVSKIY 57 COUNTRY CLUB DR		Lien Recordation Charges: \$173.91	
SAN FRANCISCO CA 94132		Total: \$439.89	
118 Division: CES	Inspector: Li	Supervisor District: 7	
Address: 57 COUNTRY CLUE	. *	Assessment of Costs: \$1,218.17	
Block/Lot: 7277 024		Interest @10 percent: \$121.82	
Directors Order No: 109307-A		Subtotal: \$1,339.99	
Owner Address: KURNOVSKIY S 57 COUNTRY CLUB DR		Lien Recordation Charges: \$173.91	
SAN FRANCISCO CA 94132		Total: \$1,513.90	
119 Division: CES	Inspector: Keane	Supervisor District: 9	
Address: 379 CRESCENT AV	•	Assessment of Costs: \$48.36	
Block/Lot: 5744 008		Interest @10 percent: \$4.84	
Directors Order No: 109109-A		Subtotal: \$53.20	
Owner Address: ROBINSON FRE	DDIE M	Lien Recordation	
379 CRESCENT AVE SAN FRANCISCO CA		Charges: \$173.91	
94110		Total: \$227.11	
120 Division: CES	Inspector: Keane	Supervisor District: 9	
Address: 379 CRESCENT AV	•	Assessment of Costs: \$978.18	
Block/Lot: 5744 008		Interest @10 percent: \$97.82	
Directors Order No: 109109-A	•	Subtotal: \$1,076.00	
Owner Address: ROBINSON FRE 379 CRESCENT AVE	DDIE M	Lien Recordation Charges: \$173.91	•
SAN FRANCISCO CA 94110		Total: \$1,249.91	
		Ψ., = 12.2.1	

Page 25 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
121 Division: CES Inspector: Ng Address: 379 CRESCENT AV	Supervisor District: 9 Assessment of Costs: \$1,176.25
Block/Lot: 5744 008 Directors Order No: 109099-A Owner Address: ROBINSON FREDDIE M	Interest @10 percent: \$117.63 Subtotal: \$1,293.88
379 CRESCENT AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94110	Total: \$1,467.79
122 Division: CES Inspector: Lei Address: 24 CRESTLAKE DR	Supervisor District: 4 Assessment of Costs: \$386.40
Block/Lot: 2528 013	Interest @10 percent: \$38.64
Directors Order No: 107666-A	Subtotal: \$425.04
Owner Address: SABEL NORMAN W 2023 28TH AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94116	Total: \$598.95
123 Division: CES Inspector: Gunnell Address: 933 DARTMOUTH ST	Supervisor District: 10 Assessment of Costs: \$1,209.00
Block/Lot: 6164 018	Interest @10 percent: \$120.90
Directors Order No:	Subtotal: \$1,329.90
Owner Address: SUSAN ELAINE PHELAN REVOC T 933 DARTMOUTH ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$1,503.81
124 Division: CES Inspector: Ng Address: 276 DAY ST	Supervisor District: 8 Assessment of Costs: \$48.36
Block/Lot: 6632 023	Interest @10 percent: \$4.84
Directors Order No:	Subtotal: \$53.20
Owner Address: BUDROCK GROUP LLC 1325 HOWARD AVE #260 BURLINGAME CA	Lien Recordation Charges: \$173.91
94010	Total: \$227.11
125 Division: CES Inspector: Li Address: 650 DE HARO ST	Supervisor District: 10 Assessment of Costs: \$145.08
Block/Lot: 4031 028	Interest @10 percent: \$14.51
Directors Order No: 108848-A	Subtotal: \$159.59
Owner Address: 650 DE HARO LLC 166 PALO ALTO AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94114	Total: \$333.50

Code Enforcement Cases

	Sour Emoreement Cases	and the second s	
April 23, 2018		Sorted By Address C	ity Wide
126 Division: CES Address: 1010 DIVISADERO ST	Inspector: Gunnell	Supervisor District: 5 Assessment of Costs:	\$145.08
Block/Lot: 1154 013A		Interest @10 percent:	\$14.51
Directors Order No: 108877-A	•	Subtotal:	\$159.59
Owner Address: WONDERLAND AL 1341C GROVE ST SAN FRANCISCO CA	LISON	Lien Recordation Charges:	\$173.91
94117		Total:	\$333.50
127 Division: CES Address: 1010 DIVISADERO ST	Inspector: Gunnell	Supervisor District: 5 Assessment of Costs:	\$1,051.23
Block/Lot: 1154 013A		Interest @10 percent:	\$105.12
Directors Order No: 108877-A		Subtotal:	\$1,156.35
Owner Address: WONDERLAND AL 1341C GROVE ST SAN FRANCISCO CA	LISON	Lien Recordation Charges:	\$173.91
94117		Total:	\$1,330.26
128 Division: HIS Address: 1653 DIVISADERO ST	Inspector: Salvetti	Supervisor District: 5 Assessment of Costs:	\$2,226.00
Block/Lot: 1076 001A		Interest @10 percent:	\$222.60
Directors Order No: 201636731	- A	Subtotal:	\$2,448.60
Owner Address: JOHN T S & SIEW Y HUNG JOHN T S & SIEW Y 2533 CHESTNUT ST		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94123		Total:	\$2,622.51
129 Division: CES Address: 451 DONAHUE ST	Inspector: Gutierrez	Supervisor District: Assessment of Costs:	\$241.80
Block/Lot: 4591C 290		Interest @10 percent:	\$24.18
Directors Order No: 108704-A		Subtotal:	\$265.98
Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94124	·	Total:	\$439.89
	Inspector: Gutierrez	Supervisor District:	#1 000 TO
Address: 451 DONAHUE ST		Assessment of Costs:	\$1,299.72
Block/Lot: 4591C 290 Directors Order No: 108704-A		Interest @10 percent:	\$129.97
Owner Address: REDDY PRAVEEN		Subtotal:	\$1,429.69
451 DONAHUE ST #201 SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
04124		Totale	¢1 602 60

Total:

\$1,603.60

94124

Page 27 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
131 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108704-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$307.35 Interest @10 percent: \$30.74 Subtotal: \$338.09 Lien Recordation Charges: \$173.91 Total: \$512.00
132 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108704-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
133 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108703-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$307.35 Interest @10 percent: \$30.74 Subtotal: \$338.09 Lien Recordation Charges: \$173.91 Total: \$512.00
134 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108703-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
135 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108703-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$1,347.88 Interest @10 percent: \$134.79 Subtotal: \$1,482.67 Lien Recordation Charges: \$173.91 Total: \$1,656.58

Page 28 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
136 Division: CES Inspector: Gutierrez Address: 451 DONAHUE ST Block/Lot: 4591C 290 Directors Order No: 108703-A Owner Address: REDDY PRAVEEN 451 DONAHUE ST #201 SAN FRANCISCO CA 94124	Supervisor District: Assessment of Costs: \$241.80 Interest @10 percent: \$24.18 Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89
137 Division: CES Inspector: Ng Address: 43B DORE ST Block/Lot: 3518 002 Directors Order No: 109148-A Owner Address: KINER FAMILY PARTNERS L P % WALTER & MARY KINER 2163 28TH AV SAN FRANCISCO CA 94116	Supervisor District: 6 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
138 Division: CES Inspector: Gunnell Address: 49 DRUMM ST Block/Lot: 0235 002 Directors Order No: Owner Address: SMITH ADRON KETCHUM III TRU SMITH ADRON KETCHUM III TRU 344 BEACH RD BELVEDERE CA 94920	Supervisor District: 3 Assessment of Costs: \$1,257.36 Interest @10 percent: \$125.74 Subtotal: \$1,383.10 Lien Recordation Charges: \$173.91 Total: \$1,557.01
139 Division: CES Inspector: Gunnell Address: 49 DRUMM ST Block/Lot: 0235 002 Directors Order No: b Owner Address: SMITH ADRON KETCHUM III TRU SMITH ADRON KETCHUM III TRU 344 BEACH RD BELVEDERE CA 94920	Supervisor District: 3 Assessment of Costs: \$531.96 Interest @10 percent: \$53.20 Subtotal: \$585.16 Lien Recordation Charges: \$173.91 Total: \$759.07
140 Division: CES Inspector: Keane Address: 15 DUBOCE AV Block/Lot: 3532 069 Directors Order No: 109002-A Owner Address: GLIMIDAKIS NIKOS 251 MAGELLAN AV SAN FRANCISCO CA 94116	Supervisor District: 6 Assessment of Costs: \$1,165.95 Interest @10 percent: \$116.60 Subtotal: \$1,282.55 Lien Recordation Charges: \$173.91 Total: \$1,456.46

Page 29 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
141 Division: CES Inspector: Keane Address: 15 DUBOCE AV	Supervisor District: 6 Assessment of Costs: \$145.08
Block/Lot: 3532 069	Interest @10 percent: \$14.51
Directors Order No: 109002-A	Subtotal: \$159.59
Owner Address: GLIMIDAKIS NIKOS 251 MAGELLAN AV SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94116	Total: \$333.50
142 Division: CES Inspector: Keane Address: 15 DUBOCE AV	Supervisor District: 6 Assessment of Costs: \$193.44
Block/Lot: 3532 069	Interest @10 percent: \$19.34
Directors Order No:	Subtotal: \$212.78
Owner Address: GLIMIDAKIS NIKOS 251 MAGELLAN AV SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94116	Total: \$386.69
143 Division: CES Inspector: Keane	Supervisor District: 6
Address: 15 DUBOCE AV Block/Lot: 3532 069	Assessment of Costs: \$145.08
Directors Order No:	Interest @10 percent: \$14.51
Owner Address: GLIMIDAKIS NIKOS	Subtotal: \$159.59
251 MAGELLAN AV SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94116	Total: \$333.50
144 Division: CES Inspector: Li Address: 1226 EDDY ST	Supervisor District: 5 Assessment of Costs: \$1,138.79
Block/Lot: 0734 008	Interest @10 percent: \$113.88
Directors Order No: 108643-A	Subtotal: \$1,252.67
Owner Address: PLAZA EAST ASSOCS LP(LESSEE 440 TURK STREET SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94102	Total: \$1,426.58
145 Division: CES Inspector: Li Address: 1226 EDDY ST	Supervisor District: 5 Assessment of Costs: \$193.44
Block/Lot: 0734 008	Interest @10 percent: \$19.34
Directors Order No: 108642-A	Subtotal: \$212.78
Owner Address: PLAZA EAST ASSOCS LP(LESSEE 440 TURK STREET	Lien Recordation
SAN FRANCISCO CA	Charges: \$173.91
94102	Total: \$386.69

Page 30 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address C	ity Wide
146 Division: CES Inspector: Li Address: 1226 EDDY ST	Supervisor District: 5 Assessment of Costs:	\$267.82
Block/Lot: 0734 008		
Directors Order No: 108642-A	Interest @10 percent:	
Owner Address: PLAZA EAST ASSOCS LP(LESSEE	Subtotal:	\$294.60
440 TURK STREET SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94102	Total:	\$468.51
147 Division: CES Inspector: Li	Supervisor District: 5	
Address: 1226 EDDY ST	Assessment of Costs:	\$1,138.79
Block/Lot: 0734 008	Interest @10 percent:	\$113.88
Directors Order No: 108642-A	Subtotal:	\$1,252.67
Owner Address: PLAZA EAST ASSOCS LP(LESSEE 440 TURK STREET SAN ER ANGESCO CA	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94102	Total:	\$1,426.58
148 Division: CES Inspector: Li	Supervisor District: 5	
Address: 1226 EDDY ST	Assessment of Costs:	\$193.44
Block/Lot: 0734 008	Interest @10 percent:	\$19.34
Directors Order No: 108643-A	Subtotal:	\$212.78
Owner Address: PLAZA EAST ASSOCS LP(LESSEE 440 TURK STREET	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94102	Total:	\$386.69
149 Division: CES Inspector: Li	Supervisor District: 5	
Address: 1226 EDDY ST	Assessment of Costs:	\$267.82
Block/Lot: 0734 008	Interest @10 percent:	\$26.78
Directors Order No: 108643-A	Subtotal:	\$294.60
Owner Address: PLAZA EAST ASSOCS LP(LESSEE	Lien Recordation	\$254.00
440 TURK STREET SAN FRANCISCO CA	Charges:	\$173.91
94102	Total:	\$468.51
150 Division: CES Inspector: Li	Supervisor District: 5	
Address: 1255 EDDY ST	Assessment of Costs:	\$193.44
Block/Lot: 0747 001	Interest @10 percent:	\$19.34
Directors Order No:	Subtotal:	\$212.78
Owner Address: PLAZA EAST ASSOCS LP-LESSEE 440 TURK STREET	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94102	Total:	\$386.69

Page 31 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
151 Division: CES Inspector: Gunnell Address: 840 EL CAMINO DEL MA Block/Lot: 1312 021 Directors Order No: 109158-A Owner Address: HIN LAND INVESTMENT LIMITED 323 SILOM RD BANGRAK	Supervisor District: 2 Assessment of Costs: \$996.87 Interest @10 percent: \$99.69 Subtotal: \$1,096.56 Lien Recordation Charges: \$173.91
BANKOK,THAILAND 10500	Total: \$1,270.47
152 Division: CES Inspector: Keane Address: 305 ELIZABETH ST Block/Lot: 3651 010 Directors Order No: Owner Address: FREDERICK E &JENNIE D BURKE FREDERICK EDWARD&JENNIE DIF 46 AQUAVISTA WAY SAN FRANCISCO CA 94131	Supervisor District: 8 Assessment of Costs: \$1,209.00 Interest @10 percent: \$120.90 Subtotal: \$1,329.90 Lien Recordation Charges: \$173.91 Total: \$1,503.81
153 Division: HIS Inspector: Mungovan Address: 350 ELLIS ST Block/Lot: 0324 023 Directors Order No: 201642361 - A Owner Address: ELLIS 350 ASSOCIATES LP C/O TNDC 201 EDDY ST SAN FRANCISCO CA 94102	Supervisor District: 6 Assessment of Costs: \$1,221.12 Interest @10 percent: \$122.11 Subtotal: \$1,343.23 Lien Recordation Charges: \$173.91 Total: \$1,517.14
154 Division: HIS Inspector: Mungovan Address: 387 ELLIS ST Block/Lot: 0332 012 Directors Order No: 201638361 - A Owner Address: MENTONE HOTEL LLC 212 SUTTER ST 3RD SAN FRANCISCO CA 94108	Supervisor District: 6 Assessment of Costs: \$412.93 Interest @10 percent: \$41.29 Subtotal: \$454.22 Lien Recordation Charges: \$173.91 Total: \$628.13
155 Division: CES Inspector: Li Address: 677 ELLIS ST Block/Lot: 0335 018 Directors Order No: Owner Address: 677 ELLIS STREET PARTNERS L 308 JESSIE ST SAN FRANCISCO CA 94103	Supervisor District: 6 Assessment of Costs: \$241.80 Interest @10 percent: \$24.18 Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89

Page 32 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
156 Division: CES Inspector: Gutierrez Address: 725 ELLIS ST Block/Lot: 0740 025 Directors Order No: 109291-A Owner Address: AGPM 725 ELLIS LP THE PRADO GROUP INCORPORATE 150 POST ST #320 SAN FRANCISCO CA 94108	Supervisor District: 6 Assessment of Costs: \$2,072.88 Interest @10 percent: \$207.29 Subtotal: \$2,280.17 Lien Recordation Charges: \$173.91 Total: \$2,454.08
157 Division: CES Inspector: Gutierrez Address: 725 ELLIS ST Block/Lot: 0740 025 Directors Order No: 109291-A Owner Address: AGPM 725 ELLIS LP THE PRADO GROUP INCORPORATE 150 POST ST #320 SAN FRANCISCO CA 94108	Supervisor District: 6 Assessment of Costs: \$628.68 Interest @10 percent: \$62.87 Subtotal: \$691.55 Lien Recordation Charges: \$173.91 Total: \$865.46
158 Division: CES Inspector: Gutierrez Address: 65 ELMIRA ST Block/Lot: 5368 038 Directors Order No: 108884-A Owner Address: SALEH OMAR J 308 FARALLON AVE PACIFICA CA 94044	Supervisor District: 10 Assessment of Costs: \$1,305.72 Interest @10 percent: \$130.57 Subtotal: \$1,436.29 Lien Recordation Charges: \$173.91 Total: \$1,610.20
159 Division: CES Inspector: Ng Address: 65 ELMIRA ST Block/Lot: 5368 038 Directors Order No: 108924-A Owner Address: SALEH OMAR J 308 FARALLON AVE PACIFICA CA 94044	Supervisor District: 10 Assessment of Costs: \$338.52 Interest @10 percent: \$33.85 Subtotal: \$372.37 Lien Recordation Charges: \$173.91 Total: \$546.28
160 Division: CES Inspector: Gutierrez Address: 45 FARALLONES ST Block/Lot: 7108 053 Directors Order No: Owner Address: ROMAN CATHOLIC ARCHBISHOP O ONE PETER YORKE WAY SAN FRANCISCO CA 94109	Supervisor District: 11 Assessment of Costs: \$531.96 Interest @10 percent: \$53.20 Subtotal: \$585.16 Lien Recordation Charges: \$173.91 Total: \$759.07

Page 33 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

Code Enforcement Cases			
April 23, 2018		Sorted By Address C	ity Wide
161 Division: CES	Inspector: Keane	Supervisor District: 1	1
Address: 171 FARALLONES ST		Assessment of Costs:	\$290.16
Block/Lot: 7107 034		Interest @10 percent:	\$29.02
Directors Order No: 108734-A		Subtotal:	\$319.18
Owner Address: CHAU SIMON 171 FARALLONES ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$493.09
162 Division: CES	Inspector: Keane	Supervisor District: 1	1
Address: 171 FARALLONES ST		Assessment of Costs:	\$290.16
Block/Lot: 7107 034		Interest @10 percent:	\$29.02
Directors Order No:		Subtotal:	\$319.18
Owner Address: CHAU SIMON 171 FARALLONES ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$493.09
163 Division: CES	Inspector: Gutierrez	Supervisor District: 1	1
Address: 171 FARALLONES ST		Assessment of Costs:	\$1,254.20
Block/Lot: 7107 034		Interest @10 percent:	\$125.42
Directors Order No: 108853-A		Subtotal:	\$1,379.62
Owner Address: CHAU SIMON 171 FARALLONES ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$1,553.53
164 Division: CES	Inspector: Gutierrez	Supervisor District: 1	1
Address: 171 FARALLONES ST		Assessment of Costs:	\$145.08
Block/Lot: 7107 034		Interest @10' percent:	\$14.51
Directors Order No: 108853-A		Subtotal:	\$159.59
Owner Address: CHAU SIMON 171 FARALLONES ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$333.50
165 Division: CES	Inspector: Keane	Supervisor District: 5	
Address: 1020 FILLMORE ST		Assessment of Costs:	\$773.76
Block/Lot: 0773 029		Interest @10 percent:	\$77.38
Directors Order No: 108097-A		Subtotal:	\$851.14
Owner Address: ALLEN COM HOUS 916 LAGUNA ST SAN FRANCISCO CA	SING INITIATIV	Lien Recordation Charges:	\$173.91

Total:

\$1,025.05

94115

Page 34 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

	ode Enforcement Cases		•
April 23, 2018		Sorted By Address C	ity Wide
166 Division: CES	Inspector: Keane	Supervisor District: 10)
Address: 1126 FITZGERALD AV		Assessment of Costs:	\$870.48
Block/Lot: 4914 005		Interest @10 percent:	\$87.05
Directors Order No: 108089-A		Subtotal:	\$957.53
Owner Address: RABB CHARLES 1126 FITZGERALD AVE		Lien Recordation	
SAN FRANCISCO CA		Charges:	\$173.91
94124		Total:	\$1,131.44
167 Division: CES	Inspector: Hinchion	Supervisor District: 10	
Address: 1270 FITZGERALD AV		Assessment of Costs:	\$1,595.88
Block/Lot: 4913 010		Interest @10 percent:	\$159.59
	A	Subtotal:	\$1,755.47
Owner Address: WU XIAOQI 362 GELLERT BLVD DALY CITY CA		Lien Recordation Charges:	\$173.91
94015		Total:	\$1,929.38
168 Division: CES I	Inspector: Greene	Supervisor District: 7	
Address: 620 FOERSTER ST		Assessment of Costs:	\$48.36
Block/Lot: 3064 025		Interest @10 percent:	\$4.84
Directors Order No: Owner Address: JOSEPH E SR & FAYE S CONOLL % JOSEPH E SR & FAYE S CONO		Subtotal:	\$53.20
		Lien Recordation	
620 FOERSTER STREET	·	Charges:	\$173.91
SAN FRANCISCO CA 94127		Total:	\$227.11
169 Division: CES I	Inspector: Li	Supervisor District: 7	
Address: 620 FOERSTER ST	·	Assessment of Costs:	\$1,391.10
Block/Lot: 3064 025		Interest @10 percent:	\$139.11
Directors Order No: 108999-A		Subtotal:	\$1,530.21
Owner Address: JOSEPH E SR & FAYE S CONOLL % JOSEPH E SR & FAYE S CONO		Lien Recordation	0.4.770.0.4
620 FOERSTER STREET		Charges:	\$173.91
SAN FRANCISCO CA 94127		Total:	\$1,704.12
170 Division: HIS	inspector: Wohlers	Supervisor District: 6	
Address: 1040 1044 FOLSOM ST		Assessment of Costs:	\$1,793.06
Block/Lot: 3731 019		Interest @10 percent:	\$179.31
	A	Subtotal:	\$1,972.37
Owner Address: NASIR & NASREEN I 2048 POLK ST SAN FRANCISCO CA	PATEL FMLY	Lien Recordation Charges:	\$173.91

Total:

\$2,146.28

94109

Page 35

of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
171 Division: CES Inspector: Li Address: 1400 FOLSOM ST Block/Lot: 3517 013 Directors Order No: 107470-A Owner Address: EXTRA SPACE PROPERTIES 112 % PTA-EX #1368 P.O. BOX 320099 ALEXANDRIA VA 22320	Supervisor District: 6 Assessment of Costs: \$870.48 Interest @10 percent: \$87.05 Subtotal: \$957.53 Lien Recordation Charges: \$173.91 Total: \$1,131.44
172 Division: CES Inspector: Schroeder Address: 2420 FOLSOM ST Block/Lot: 3611 005 Directors Order No: 109306-A Owner Address: 14TH FOLSOM LLC % KONG SIMON HOK LAI & YIN 823 42ND AVE SAN FRANCISCO CA 94121	Supervisor District: 9 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
173 Division: CES Inspector: Schroeder Address: 2420 FOLSOM ST Block/Lot: 3611 005 Directors Order No: 109306-A Owner Address: 14TH FOLSOM LLC % KONG SIMON HOK LAI & YIN 823 42ND AVE SAN FRANCISCO CA 94121	Supervisor District: 9 Assessment of Costs: \$1,174.13 Interest @10 percent: \$117.41 Subtotal: \$1,291.54 Lien Recordation Charges: \$173.91 Total: \$1,465.45
174 Division: CES Inspector: Gutierrez Address: 75 FRESNO ST Block/Lot: 0145 016 Directors Order No: 109108-A Owner Address: DOONG FAMILY TRUST KWOK HO & BETTY BOW C DOONG 75 FRESNO ST SAN FRANCISCO CA 94133	Supervisor District: 3 Assessment of Costs: \$1,162.26 Interest @10 percent: \$116.23 Subtotal: \$1,278.49 Lien Recordation Charges: \$173.91 Total: \$1,452.40
175 Division: CES Inspector: Greene Address: 355 FULTON ST Block/Lot: 0792 007E Directors Order No: Owner Address: 355 FULTON STREET LLC STEVEN C. THROWER 600 CALIFORNIA ST 20TH-FL SAN FRANCISCO CA 94108	Supervisor District: 6 Assessment of Costs: \$241.80 Interest @10 percent: \$24.18 Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89

Page 36 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address C	ity Wide
176 Division: CES Inspector: Keane Address: 121 GATES ST Block/Lot: 5651 024 Directors Order No: Owner Address: CONCEPCION KHALEQ REVOC TRU KHALEQ CONCEPCION TRUSTEE 563 NATOMA ST	Supervisor District: 9 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges:	\$159.59 \$173.91
SAN FRANCISCO CA 94103	Total:	\$333.50
177 Division: CES Inspector: Keane Address: 121 GATES ST Block/Lot: 5651 024	Supervisor District: 9 Assessment of Costs: Interest @10 percent:	\$193.44 \$19.34
Directors Order No:	Subtotal:	\$212.78
Owner Address: CONCEPCION KHALEQ REVOC TRU KHALEQ CONCEPCION TRUSTEE 563 NATOMA ST	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94103	Total:	\$386.69
178 Division: CES Inspector: Keane Address: 121 GATES ST	Supervisor District: 9 Assessment of Costs:	\$96.72
Block/Lot: 5651 024	Interest @10 percent:	\$9.67
Directors Order No: Owner Address: CONCERCION WHATEO REVOCETRIES	Subtotal:	\$106.39
Owner Address: CONCEPCION KHALEQ REVOC TRU KHALEQ CONCEPCION TRUSTEE 563 NATOMA ST	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94103	Total:	\$280.30
179 Division: CES Inspector: Mather Address: 6201 GEARY BL	Supervisor District: 1 Assessment of Costs:	\$1,450.80
Block/Lot: 1518 001	Interest @10 percent:	\$145.08
Directors Order No: 107383-A Owner Address: FIRST CLASS 26TH AVENUE LLC	Subtotal:	\$1,595.88
% MEISLIN INVESTMENTS P O BOX 489	Lien Recordation Charges:	\$173.91
MILL VALLEY CA 94942	Total:	\$1,769.79
180 Division: CES Inspector: Li	Supervisor District: 3	
Address: 180 GEARY ST	Assessment of Costs:	\$1,144.79
Block/Lot: 0309 011 Directors Order No: 108735-A	Interest @10 percent:	\$114.48
Owner Address: GEARY-STOCKTON REALTY LLC	Subtotal:	\$1,259.27
ASHKENAZY ACQUISITION CORP 150 EAST 58TH ST 39 FL	Lien Recordation Charges:	\$173.91
NEW YORK NY 10155	Total:	\$1,433.18

Page 37 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
181 Division: CES Inspector: Li Address: 180 GEARY ST Block/Lot: 0309 011 Directors Order No: 108735-A	Supervisor District: 3 Assessment of Costs: \$338.52 Interest @10 percent: \$33.85
Owner Address: GEARY-STOCKTON REALTY LLC ASHKENAZY ACQUISITION CORP 150 EAST 58TH ST 39 FL NEW YORK NY 10155	Subtotal: \$372.37 Lien Recordation Charges: \$173.91 Total: \$546.28
182 Division: CES Inspector: Li Address: 1427 GRANT AV Block/Lot: 0116 008 Directors Order No: 108876-A Owner Address: 1429 GRANT AVE LLC 2700 SAN BRUNO AVE SAN FRANCISCO CA 94134	Supervisor District: 3 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
183 Division: CES Inspector: Greene Address: 1501 GRANT AV Block/Lot: 0103 007 Directors Order No: 109302-A Owner Address: A G S PROPERTIES LP 506 KINGSBRIGGE CT SAN RAMON CA 94583	Supervisor District: 3 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
184 Division: CES Inspector: Greene Address: 1501 GRANT AV Block/Lot: 0103 007 Directors Order No: 109302-A Owner Address: A G S PROPERTIES LP 506 KINGSBRIGGE CT SAN RAMON CA 94583	Supervisor District: 3 Assessment of Costs: \$917.82 Interest @10 percent: \$91.78 Subtotal: \$1,009.60 Lien Recordation Charges: \$173.91 Total: \$1,183.51
185 Division: CES Inspector: Keane Address: 450 GREEN ST Block/Lot: 0115 016 Directors Order No: 107977-A Owner Address: SF GREEN LLC	Supervisor District: 3 Assessment of Costs: \$918.44 Interest @10 percent: \$91.84 Subtotal: \$1,010.28 Lien Recordation Charges: \$173.91 Total: \$1,184.19

Page 38 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address C	ity Wide
186 Division: CES Address: 450 GREEN ST	Inspector: Li	Supervisor District: 3 Assessment of Costs:	\$1,318.05
Block/Lot: 0115 016 Directors Order No: 109089-A	•	Interest @10 percent:	\$131.81
Owner Address: SF GREEN LLC		Subtotal:	\$1,449.86
11290 POINT EAST DR #100)	Lien Recordation Charges:	\$173.91
RANCHO CORDOVA CA 95742		Total:	\$1,623.77
187 Division: CES	Inspector: Mather	Supervisor District: 3	
Address: 818 GREEN ST		Assessment of Costs:	\$822.12
Block/Lot: 0119 011	·	Interest @10 percent:	\$82.21
Directors Order No: 107214-A		Subtotal:	\$904.33
Owner Address: 818 GREEN STREET 2004 WEST LAGOON RD PLEASANTON CA	Γ LLC	Lien Recordation Charges:	\$173.91
94566		Total:	\$1,078.24
188 Division: CES Address: 1943 GREEN ST	Inspector: Gutierrez	Supervisor District: 2 Assessment of Costs:	\$1.837.68
Block/Lot: 0555 026			
Directors Order No: 108648-A		Interest @10 percent:	
Owner Address: C & J REALTY INVI	ESTMENT LLC	Subtotal: Lien Recordation	\$2,021.45
30 TOUSSIN AVE KENTFIELD CA		Charges:	\$173.91
94904		Total:	\$2,195.36
189 Division: CES Address: 1943 GREEN ST	Inspector: Gutierrez	Supervisor District: 2 Assessment of Costs:	\$1,576.32
Block/Lot: 0555 026		Interest @10 percent:	\$157.63
Directors Order No: 108648-A		Subtotal:	\$1,733.95
Owner Address: C & J REALTY INVI	ESTMENT LLC	Lien Recordation	41,700.50
30 TOUSSIN AVE KENTFIELD CA		Charges:	\$173.91
94904		Total:	\$1,907.86
190 Division: CES	Inspector: Gutierrez	Supervisor District: 2	
Address: 1945 GREEN ST		Assessment of Costs:	\$241.80
Block/Lot: 0555 026		Interest @10 percent:	\$24.18
Directors Order No: 108649-A		Subtotal:	\$265.98
Owner Address: C & J REALTY INVI 30 TOUSSIN AVE KENTFIELD CA	ESTMENT LLC	Lien Recordation Charges:	\$173.91
94904		Total:	\$439.89

Page 39 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address C	City Wide
191 Division: CES Inspector Address: 1945 GREEN ST	or: Gutierrez Supervisor District: 2 Assessment of Costs:	\$1,634.27
Block/Lot: 0555 026	Interest @10 percent:	\$163.43
Directors Order No: 108649-A	Subtotal:	\$1,797.70
Owner Address: C & J REALTY INVESTMEN 30 TOUSSIN AVE KENTFIELD CA	NT LLC Lien Recordation Charges:	\$173.91
94904	Total:	\$1,971.61
192 Division: CES Inspecto	or: Gutierrez Supervisor District: 2	
Address: 1945 GREEN ST	Assessment of Costs:	\$1,547.52
Block/Lot: 0555 026	Interest @10 percent:	\$154.75
Directors Order No: 108652-A	Subtotal:	\$1,702.27
Owner Address: C & J REALTY INVESTMEN 30 TOUSSIN AVE KENTFIELD CA	NT LLC Lien Recordation Charges:	\$173.91
94904	Total:	\$1,876.18
193 Division: CES Inspecto	or: Gutierrez Supervisor District: 2	
Address: 1945 GREEN ST	Assessment of Costs:	\$1,506.41
Block/Lot: 0555 026	Interest @10 percent:	\$150.64
Directors Order No: 108652-A	Subtotal:	\$1,657.05
Owner Address: C & J REALTY INVESTMEN 30 TOUSSIN AVE KENTFIELD CA	NT LLC Lien Recordation Charges:	\$173.91
94904	Total:	\$1,830.96
194 Division: CES Inspector Address: 1945 GREEN ST	or: Gutierrez Supervisor District: 2 Assessment of Costs:	\$773.76
Block/Lot: 0555 026	Interest @10 percent:	\$77.38
Directors Order No: 108650-A	Subtotal:	\$851.14
Owner Address: C & J REALTY INVESTMEN 30 TOUSSIN AVE KENTFIELD CA	NT LLC Lien Recordation Charges:	\$173.91
94904	Total:	\$1,025.05
195 Division: CES Inspecto	or: Gutierrez Supervisor District: 2	
Address: 1945 GREEN ST	Assessment of Costs:	\$1,506.41
Block/Lot: 0555 026	Interest @10 percent:	\$150.64
Directors Order No: 108650-A	Subtotal:	\$1,657.05
Owner Address: C & J REALTY INVESTMEN 30 TOUSSIN AVE KENTFIELD CA	NT LLC Lien Recordation Charges:	\$173.91
94904	Total:	\$1,830.96

Page 40 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
196 Division: CES Inspector: Gutierrez Address: 1945 GREEN ST Block/Lot: 0555 026 Directors Order No: 108651-A Owner Address: C & J REALTY INVESTMENT LLC 30 TOUSSIN AVE KENTFIELD CA 94904	Supervisor District: 2 Assessment of Costs: \$1,160.64 Interest @10 percent: \$116.06 Subtotal: \$1,276.70 Lien Recordation Charges: \$173.91 Total: \$1,450.61
197 Division: CES Inspector: Gutierrez Address: 1945 GREEN ST Block/Lot: 0555 026 Directors Order No: 108651-A Owner Address: C & J REALTY INVESTMENT LLC 30 TOUSSIN AVE KENTFIELD CA 94904	Supervisor District: 2 Assessment of Costs: \$1,624.76 Interest @10 percent: \$162.48 Subtotal: \$1,787.24 Lien Recordation Charges: \$173.91 Total: \$1,961.15
198 Division: CES Inspector: Li Address: 1945 GREEN ST Block/Lot: 0555 026 Directors Order No: 108680-A Owner Address: C & J REALTY INVESTMENT LLC 30 TOUSSIN AVE KENTFIELD CA 94904	Supervisor District: 2 Assessment of Costs: \$1,302.89 Interest @10 percent: \$130.29 Subtotal: \$1,433.18 Lien Recordation Charges: \$173.91 Total: \$1,607.09
199 Division: CES Inspector: Gunnell Address: 2283 GREEN ST Block/Lot: 0558 024 Directors Order No: Owner Address: MARKELS MICHAEL E 2281 GREEN STREET SAN FRANCISCO CA 94123	Supervisor District: 2 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
200 Division: CES Inspector: Li Address: 930 GROVE ST Block/Lot: 0798 031 Directors Order No: 108788-A Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE SAN FRANCISCO CA 94122	Supervisor District: 5 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30

of 88 Page 41

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES Code Enforcement Cases

April 23, 2018	Sorted By Address C	ity Wide
201 Division: CES Inspector: Keane Address: 930 GROVE ST	Supervisor District: 5 Assessment of Costs:	\$2,171.42
Block/Lot: 0798 031	Interest @10 percent:	\$217.14
Directors Order No: 108833-A	Subtotal:	\$2,388.56
Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94122	Total:	\$2,562.47
202 Division: CES Inspector: Keane	Supervisor District: 5	
Address: 930 GROVE ST	Assessment of Costs:	\$96.72
Block/Lot: 0798 031	Interest @10 percent:	\$9.67
Directors Order No: 108833-A	Subtotal:	\$106.39
Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94122	Total:	\$280.30
203 Division: CES Inspector: Keane Address: 930 GROVE ST	Supervisor District: 5 Assessment of Costs:	\$48.36
Block/Lot: 0798 031		•
Directors Order No: 108833-A	Interest @10 percent:	
Owner Address: TP PHAM LLC	Subtotal: Lien Recordation	\$53.20
PHUONG THANH PHAM, OWNER 1738 44TH AVE	Charges:	\$173.91
SAN FRANCISCO CA 94122	Total:	\$227.11
204 Division : CES Inspector: Li	Supervisor District: 5	
Address: 930 GROVE ST	Assessment of Costs:	\$1,141.62
Block/Lot: 0798 031	Interest @10 percent:	\$114.16
Directors Order No: 108787-A	Subtotal:	\$1,255.78
Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94122	Total:	\$1,429.69
205 Division: CES Inspector: Li	Supervisor District: 5	
Address: 930 GROVE ST	Assessment of Costs:	\$193.44
Block/Lot: 0798 031	Interest @10 percent:	\$19.34
Directors Order No: 108787-A	Subtotal:	\$212.78
Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94122	Total:	\$386.69

Page 42 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
206 Division: CES Inspector: Li Address: 930 GROVE ST Block/Lot: 0798 031 Directors Order No: 108788-A Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE SAN FRANCISCO CA 94122	Supervisor District: 5 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30
207 Division: CES Inspector: Li Address: 930 GROVE ST Block/Lot: 0798 031 Directors Order No: 108788-A Owner Address: TP PHAM LLC PHUONG THANH PHAM, OWNER 1738 44TH AVE SAN FRANCISCO CA 94122	Supervisor District: 5 Assessment of Costs: \$1,277.87 Interest @10 percent: \$127.79 Subtotal: \$1,405.66 Lien Recordation Charges: \$173.91 Total: \$1,579.57
208 Division: CES Inspector: Gutierrez Address: 1270 GROVE ST Block/Lot: 1181 014 Directors Order No: 108577-A Owner Address: 1270 GROVE LLC ROGER PEREZ P.O. BOX 6194 SAN RAFAEL CA 94903	Supervisor District: 5 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
209 Division: CES Inspector: Gutierrez Address: 1270 GROVE ST Block/Lot: 1181 014 Directors Order No: 108577-A Owner Address: 1270 GROVE LLC ROGER PEREZ P.O. BOX 6194 SAN RAFAEL CA 94903	Supervisor District: 5 Assessment of Costs: \$1,497.35 Interest @10 percent: \$149.74 Subtotal: \$1,647.09 Lien Recordation Charges: \$173.91 Total: \$1,821.00
210 Division: CES Inspector: Gutierrez Address: 1270 GROVE ST Block/Lot: 1181 014 Directors Order No: 108577-A Owner Address: 1270 GROVE LLC ROGER PEREZ P.O. BOX 6194 SAN RAFAEL CA 94903	Supervisor District: 5 Assessment of Costs: \$483.60 Interest @10 percent: \$48.36 Subtotal: \$531.96 Lien Recordation Charges: \$173.91 Total: \$705.87

Page 43 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
211 Division: CES Inspector: Gunnell Address: 988 GUERRERO ST Block/Lot: 3618 072 Directors Order No: 109339-A Owner Address: GEORGE F HAUSER 1988 REVOC HAUSER GEORGE F TRUSTEE 313 EUREKA ST SAN FRANCISCO CA 94114	Supervisor District: 8 Assessment of Costs: \$241.80 Interest @10 percent: \$24.18 Subtotal: \$265.98 Lien Recordation Charges: \$173.91 Total: \$439.89
212 Division: CES Inspector: Gunnell Address: 988 GUERRERO ST Block/Lot: 3618 072 Directors Order No: 109339-A Owner Address: GEORGE F HAUSER 1988 REVOC HAUSER GEORGE F TRUSTEE 313 EUREKA ST SAN FRANCISCO CA 94114	Supervisor District: 8 Assessment of Costs: \$444.54 Interest @10 percent: \$44.45 Subtotal: \$488.99 Lien Recordation Charges: \$173.91 Total: \$662.90
213 Division: CES Inspector: Keane Address: 1135 GUERRERO ST Block/Lot: 3646 014 Directors Order No: Owner Address: RENKA PROP LLC P O BOX 691889 LOS ANGELES CA 90069	Supervisor District: 8 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69
214 Division: CES Inspector: Li Address: 575 579 HAIGHT ST Block/Lot: 0860 029 Directors Order No: 107668-A Owner Address: CREAR MILDRED 5845 MENDOCINO AVE OAKLAND CA 94618	Supervisor District: 5 Assessment of Costs: \$290.16 Interest @10 percent: \$29.02 Subtotal: \$319.18 Lien Recordation Charges: \$173.91 Total: \$493.09
215 Division: CES Inspector: Li Address: 585 587 HAIGHT ST Block/Lot: 0860 028 Directors Order No: 107669-A Owner Address: CREAR MILDRED 5845 MENDOCINO AVE OAKLAND CA 94618	Supervisor District: 5 Assessment of Costs: \$290.16 Interest @10 percent: \$29.02 Subtotal: \$319.18 Lien Recordation Charges: \$173.91 Total: \$493.09

Page 44 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
216 Division: CES Inspector: Keane Address: 179 HALE ST	Supervisor District: 9 Assessment of Costs: \$1,296.53
Block/Lot: 5882 030	Interest @10 percent: \$129.65
Directors Order No: 109066-A	Subtotal: \$1,426.18
Owner Address: WEI WILSON XICONG 272 HALE ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$1,600.09
217 Division: CES Inspector: Keane Address: 179 HALE ST	Supervisor District: 9 Assessment of Costs: \$145.08
Block/Lot: 5882 '030	Interest @10 percent: \$14.51
Directors Order No: 109066-A	Subtotal: \$159.59
Owner Address: WEI WILSON XICONG 272 HALE ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$333.50
218 Division: CES Inspector: Keane Address: 179 HALE ST	Supervisor District: 9 Assessment of Costs: \$193.44
Block/Lot: 5882 030	Interest @10 percent: \$19.34
Directors Order No: 109066-A	Subtotal: \$212.78
Owner Address: WEI WILSON XICONG	Lien Recordation
272 HALE ST SAN FRANCISCO CA	Charges: \$173.91
94134	Total: \$386.69
219 Division: HIS Inspector: Lepe	Supervisor District: 8
Address: 61 65 HENRY ST	Assessment of Costs: \$5,069.49
Block/Lot: 3541 038 Directors Order No: 201149786 - A	Interest @10 percent: \$506.95
Owner Address: 61-65AHENRY STREET REVOC TR	Subtotal: \$5,576.44
ROLIZ TERESA TRUSTEE 63 HENRY ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94114	Total: \$5,750.35
220 Division: CES Inspector: Gutierrez	Supervisor District: 10
Address: 1083 HOLLISTER AV	Assessment of Costs: \$1,361.43
Block/Lot: 4965 029	Interest @10 percent: \$136.14
Directors Order No: 109225-A	Subtotal: \$1,497.57
Owner Address: ZHU TRENT 362 GELLERT BLVD DALY CITY CA	Lien Recordation Charges: \$173.91
94015	Total: \$1,671.48

Page 45 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
221 Division: CES Inspector: Gutierrez Address: 49 HOPKINS AV	Supervisor District: 8 Assessment of Costs: \$145.08
Block/Lot: 2799 042	Interest @10 percent: \$14.51
Directors Order No: 109290-A	Subtotal: \$159.59
Owner Address: 49HOPKINS LLC PO BOX 1298 WINTER PARK FL	Lien Recordation Charges: \$173.91
32790	Total: \$333.50
222 Division: CES Inspector: Li	Supervisor District: 6
Address: 964 HOWARD ST Block/Lot: 3725 020	Assessment of Costs: \$531.96
Directors Order No:	Interest @10 percent: \$53,20
Owner Address: PATEL ANJANA V & VIKRAM N	Subtotal: \$585.16
964 HOWARD ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94103	Total: \$759.07
223 Division: CES Inspector: Li	Supervisor District: 6
Address: 964 HOWARD ST	Assessment of Costs: \$1,439.46
Block/Lot: 3725 020 Directors Order No: 108998-A	Interest @10 percent: \$143.95
Owner Address: PATEL ANJANA V & VIKRAM N	Subtotal: \$1,583.41
964 HOWARD ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94103	Total: \$1,757.32
224 Division: CES Inspector: Li Address: 964 HOWARD ST	Supervisor District: 6 Assessment of Costs: \$193.44
Block/Lot: 3725 020	Interest @10 percent: \$19.34
Directors Order No: 108998-A	Subtotal: \$212.78
Owner Address: PATEL ANJANA V & VIKRAM N 964 HOWARD ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94103	Total: \$386.69
225 Division: CES Inspector: Ng	Supervisor District: 11
Address: 158 HOWTH ST	Assessment of Costs: \$145.08
Block/Lot: 6976 004E	Interest @10 percent: \$14.51
Directors Order No: 108915-A	Subtotal: \$159.59
Owner Address: SEKI YUSUKE 206 SUMMIT WY SAN ER ANCISCO CA	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94132	Total: \$333.50

Page 46 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address C	ity Wide
226 Division : CES Address: 451 HYDE ST Block/Lot: 0321 005	Inspector: Li	Supervisor District: 6 Assessment of Costs: Interest @10 percent:	\$435.24 \$43.52
Directors Order No:		Subtotal:	\$478.76
Owner Address: NAGUIT FAMILY	REV INTERVIVO	Lien Recordation	\$478.70
EDUARDO L & MILAGRO 121 PEAHURST CT	OS C NAGU	Charges:	\$173.91
DALY CITY CA 94015		Total:	\$652.67
227 Division: CES	Inspector: Gunnell	Supervisor District: 3	
Address: 1735 HYDE ST		Assessment of Costs:	\$1,542.16
Block/Lot: 0153 006		Interest @10 percent:	\$154.22
Directors Order No: 108981-A		Subtotal:	\$1,696.38
Owner Address: HIDE & SEEK LIV 80 DEPEYSTER AVE TENAFLY NJ	ING LLC	Lien Recordation Charges:	\$173.91
07670		Total:	\$1,870.29
228 Division : CES	Inspector: Gunnell	Supervisor District: 3	\$1.45.00
Address: 1735 HYDE ST		Assessment of Costs:	\$145.08
Block/Lot: 0153 006 Directors Order No: 108981-A		Interest @10 percent:	\$14.51
Owner Address: HIDE & SEEK LIV		Subtotal:	\$159.59
80 DEPEYSTER AVE TENAFLY NJ	ING LLC	Lien Recordation Charges:	\$173.91
07670		Total:	\$333.50
229 Division: CES	Inspector: Gutierrez	Supervisor District: 10)
Address: 793 INGERSON AV		Assessment of Costs:	\$1,343.76
Block/Lot: 4974 016		Interest @10 percent:	\$134.38
Directors Order No: 109209-A		Subtotal:	\$1,478.14
Owner Address: VENTURA SANDI 793 INGERSON AVE	RA	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94124		Total:	\$1,652.05
230 Division: CES	Inspector: Gutierrez	Supervisor District: 10)
Address: 793 INGERSON AV	1	Assessment of Costs:	\$386.88
Block/Lot: 4974 016		Interest @10 percent:	\$38.69
Directors Order No: 109209-A		Subtotal:	\$425.57
Owner Address: VENTURA SANDI 793 INGERSON AVE	RA	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94124		Total:	\$599.48

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Page 47 of 88

Code Enforcen	icht Cascs
April 23, 2018	Sorted By Address City Wide
231 Division: CES Inspector: Gunnell Address: 469 IVY ST Block/Lot: 0807 009A Directors Order No: 109068-A Owner Address: FRAIGE RICHARD HAYES VALLEY PROPERTIES 447 IVY ST	Supervisor District: 5 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94102	Total: \$333.50
232 Division: CES Inspector: Gunnell Address: 469 IVY ST Block/Lot: 0807 009A	Supervisor District: 5 Assessment of Costs: \$1,118.28 Interest @10 percent: \$111.83
Directors Order No: 109068-A	Subtotal: \$1,230.11
Owner Address: FRAIGE RICHARD HAYES VALLEY PROPERTIES 447 IVY ST SAN FRANCISCO CA 94102	Lien Recordation Charges: \$173.91 Total: \$1,404.02
233 Division: CES Inspector: Keane Address: 1660 JERROLD AV	Supervisor District: 10 Assessment of Costs: \$48.36
Block/Lot: 5272 019	Interest @10 percent: \$4.84
Owner Address: CHRISTOPHER JOSEPH & CHRIST HARNEY REVOCABLE LIVING TRU	Subtotal: \$53.20 Lien Recordation Charges: \$173.91
1234 MARIPOSA ST SAN FRANCISCO CA 94066	Total: \$227.11
234 Division: CES Inspector: Keane Address: 1811 JERROLD AV Block/Lot: 5281 011	Supervisor District: 10 Assessment of Costs: \$1,120.76 Interest @10 percent: \$112.08
Directors Order No: 109031-A	Subtotal: \$1,232.84
Owner Address: PENINSULA CORRIDOR JOINT PO	Lien Recordation Charges: \$173.91
	Total: \$1,406.75
235 Division: CES Inspector: Greene Address: 1811 JERROLD AV	Supervisor District: 10 Assessment of Costs: \$145.08
Block/Lot: 5281 011	Interest @10 percent: \$14.51
Directors Order No: Owner Address: PENINSULA CORRIDOR JOINT PO	Subtotal: \$159.59
Owner Address. I ENTINGULA CORRIDOR JOHN PO	Lien Recordation Charges: \$173.91
	Total: \$333.50

Page 48 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

April	23,	2018
	,	

Sorted By Address City Wide

236 Division: CES	Inspector: Greene	Supervisor District: 10	
Address: 1811 JERROLD AV		Assessment of Costs: \$145.08	
Block/Lot: 5281 011		Interest @10 percent: \$14.51	
Directors Order No:		Subtotal: \$159.59	
Owner Address: PENINSULA COR	RIDOR JOINT PO	Lien Recordation	
		Charges: \$173.91	
		Total: \$333.50	
Division: HIS	Inspector: Mungovan	Supervisor District: 6	•
Address: 649 JONES ST		Assessment of Costs: \$3,469.44	
Block/Lot: 0304 002		Interest @10 percent: \$346.94	
Directors Order No: 201497333	- A	Subtotal: \$3,816.38	
Owner Address: SHP JONES LLC		Lien Recordation	
SAND HILL PROPERTY C 965 PAGE MILL RD	Ó	Charges: \$173.91	
MENLO PARK CA 94303		Total: \$3,990.29	
238 Division: CES	Inspector: Li	Supervisor District: 6	
Address: 649 JONES ST	·	Assessment of Costs: \$870.48	
Block/Lot: 0304 002		Interest @10 percent: \$87.05	
Directors Order No: 107692-A		Subtotal: \$957.53	
Owner Address: SHP JONES LLC		Lien Recordation	
SAND HILL PROPERTY C 965 PAGE MILL RD	,0	Charges: \$173.91	
MENLO PARK CA 94303		Total: \$1,131.44	***
239 Division: CES	Inspector: Gutierrez	Supervisor District: 3	
Address: 2515 JONES ST		Assessment of Costs: \$1,112.28	
Block/Lot: 0044 002B		Interest @10 percent: \$111.23	
Directors Order No: 108956-A			
		Subtotal: \$1,223.51	
Owner Address: LEE KENT YUE		Lien Recordation	
Owner Address: LEE KENT YUE 2515 JONES ST SAN FRANCISCO CA		,	
2515 JONES ST		Lien Recordation	
2515 JONES ST SAN FRANCISCO CA	Inspector: Gutierrez	Lien Recordation Charges: \$173.91	
2515 JONES ST SAN FRANCISCO CA 94133	Inspector: Gutierrez	Lien Recordation Charges: \$173.91 Total: \$1,397.42	**************************************
2515 JONES ST SAN FRANCISCO CA 94133 240 Division: CES Address: 2515 JONES ST Block/Lot: 0044 002B	Inspector: Gutierrez	Lien Recordation Charges: \$173.91 Total: \$1,397.42 Supervisor District: 3	Naviga Managana
2515 JONES ST SAN FRANCISCO CA 94133 240 Division: CES Address: 2515 JONES ST Block/Lot: 0044 002B Directors Order No: 108956-A	Inspector: Gutierrez	Lien Recordation Charges: \$173.91 Total: \$1,397.42 Supervisor District: 3 Assessment of Costs: \$1,473.32	da-estationalis—
2515 JONES ST SAN FRANCISCO CA 94133 240 Division: CES Address: 2515 JONES ST Block/Lot: 0044 002B Directors Order No: 108956-A Owner Address: LEE KENT YUE	Inspector: Gutierrez	Lien Recordation Charges: \$173.91 Total: \$1,397.42 Supervisor District: 3 Assessment of Costs: \$1,473.32 Interest @10 percent: \$147.33 Subtotal: \$1,620.65 Lien Recordation	
2515 JONES ST SAN FRANCISCO CA 94133 240 Division: CES Address: 2515 JONES ST Block/Lot: 0044 002B Directors Order No: 108956-A	Inspector: Gutierrez	Lien Recordation Charges: \$173.91 Total: \$1,397.42 Supervisor District: 3 Assessment of Costs: \$1,473.32 Interest @10 percent: \$147.33 Subtotal: \$1,620.65	

Page 49 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
241 Division: HIS Inspector: Mak Address: 200 JUDSON AV Block/Lot: 3157 009 Directors Order No: 201544171 - A Owner Address: WALSH EILEEN	Supervisor District: 7 Assessment of Costs: \$1,245.30 Interest @10 percent: \$124.53 Subtotal: \$1,369.83
Owner Address: WALSH EILEEN 200 JUDSON AVE SAN FRANCISCO CA 94112	Lien Recordation Charges: \$173.91 Total: \$1,543.74
242 Division: CES Inspector: Li Address: 781 KANSAS ST Block/Lot: 4073 013	Supervisor District: 10 Assessment of Costs: \$918.84 Interest @10 percent: \$91.88
Directors Order No: 107745-A Owner Address: SUTHERLAND JOHN R 781 KANSAS ST	Subtotal: \$1,010.72 Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94107	Total: \$1,184.63
243 Division: CES Inspector: Gutierrez Address: 1651 KIRKWOOD AV Block/Lot: 5290 037 Directors Order No: 108800-A Owner Address: FRANCISCO'S MEXICAN FOODS L 992 GILLMAN AVE SAN FRANCISCO CA	Supervisor District: 10 Assessment of Costs: \$1,205.84 Interest @10 percent: \$120.58 Subtotal: \$1,326.42 Lien Recordation Charges: \$173.91
94124 244 Division: CES Inspector: Li	Total: \$1,500.33 Supervisor District: 10
Address: 1651 KIRWOOD AV Block/Lot: 5290 037 Directors Order No: 108849-A Owner Address: FRANCISCO'S MEXICAN FOODS L 992 GILLMAN AVE SAN FRANCISCO CA 94124	Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
245 Division: CES Inspector: Li Address: 1651 KIRWOOD AV	Supervisor District: 10 Assessment of Costs: \$1,223.51
Block/Lot: 5290 037 Directors Order No: 108849-A Owner Address: FRANCISCO'S MEXICAN FOODS L	Interest @10 percent: \$122.35 Subtotal: \$1,345.86
992 GILLMAN AVE SAN FRANCISCO CA 94124	Lien Recordation Charges: \$173.91 Total: \$1,519.77

Page 50 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
246 Division: CES Inspector: Keane Address: 360 LAIDLEY ST	Supervisor District: 8 Assessment of Costs: \$870.48
Block/Lot: 6696 010A	Interest @10 percent: \$87.05
Directors Order No: 107928-A	Subtotal: \$957.53
Owner Address: ASLAN AL 360 LAIDLEY ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94131	Total: \$1,131.44
247 Division: CES Inspector: Keane Address: 1430 LARKIN ST	Supervisor District: 3 Assessment of Costs: \$1,150.79
Block/Lot: 0249 017	Interest @10 percent: \$115.08
Directors Order No: 108747-A	Subtotal: \$1,265.87
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$1,439.78
248 Division: CES Inspector: Keane	Supervisor District: 3
Address: 1430 LARKIN ST	Assessment of Costs: \$338.52
Block/Lot: 0249 017	Interest @10 percent: \$33.85
Directors Order No: 108747-A	Subtotal: \$372.37
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$546.28
249 Division: CES Inspector: Li	Supervisor District: 3
Address: 2200 LARKIN ST	Assessment of Costs: \$1,305.72
Block/Lot: 0123 041	Interest @10 percent: \$130.57
Directors Order No:	Subtotal: \$1,436.29
Owner Address: DOLAN ROBERT J&YVETTE P REV % ROBERT DOLAN 423 CORBETT AV	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94114	Total: \$1,610.20
250 Division: HIS Inspector: Barber	Supervisor District: 6
Address: 335 LEAVENWORTH ST	Assessment of Costs: \$4,635.11
Block/Lot: 0334 003	Interest @10 percent: \$463.51
Directors Order No: H201700581	Subtotal: \$5,098.62
Owner Address: MARUTI SHARANAM LLC 539 33RD AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94121	Total: \$5,272.53

Page 51 of 88

\$812.26

Total:

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

	Code Enforcement Cases		
April 23, 2018		Sorted By Address C	ity Wide
251 Division: HIS	Inspector: Barber	Supervisor District: 6	- 101
Address: 335 LEAVENWORT	H ST	Assessment of Costs:	\$3,912.36
Block/Lot: 0334 003		Interest @10 percent:	\$391.24
Directors Order No: H201631481		Subtotal:	\$4,303.60
Owner Address: MARUTI SHARA 539 33RD AVE SAN FRANCISCO CA	ANAM LLC	Lien Recordation Charges:	\$173.91
94121		Total:	\$4,477.51
252 Division: CES	Inspector: Mather	Supervisor District: 3	
Address: 1256 LEAVENWOR	TH S	Assessment of Costs:	\$1,063.92
Block/Lot: 0220 028		Interest @10 percent:	\$106.39
Directors Order No: 107923-A		Subtotal:	\$1,170.31
Owner Address: WONG, YICK O P.O. BOX 6676 MORAGA CA	N	Lien Recordation Charges:	\$173.91
94556		Total:	\$1,344.22
253 Division: CES Address: 27 LEDYARD ST	Inspector: Gutierrez	Supervisor District: 1 Assessment of Costs:	
Block/Lot: 5395 064		Interest @10 percent:	
Directors Order No: 109322-A		Subtotal:	\$1,758.44
Owner Address: OBANNON MAE 291 W GASPARA DR	RION A & GEORGIA	Lien Recordation	Ψ1,730.77
MOUNTAIN HOUSE CA		Charges:	\$173.91
95391		Total:	\$1,932.35
254 Division: CES	Inspector: Li	Supervisor District: 1	0
Address: 27 LEDYARD ST		Assessment of Costs:	\$241.80
Block/Lot: 5395 064		Interest @10 percent:	\$24.18
Directors Order No: 109299-A		Subtotal:	\$265.98
Owner Address: OBANNON MAR 291 W GASPARA DR MOUNTAIN HOUSE CA	RION A & GEORGIA	Lien Recordation Charges:	\$173.91
95391		Total:	\$439.89
255 Division: CES	Inspector: Gutierrez	Supervisor District: 1	0
Address: 27 LEDYARD ST		Assessment of Costs:	\$580.32
Block/Lot: 5395 064		Interest @10 percent:	\$58.03
Directors Order No: 109322-A		Subtotal:	\$638.35
Owner Address: OBANNON MAE 291 W GASPARA DR MOUNTAIN HOUSE CA	RION A & GEORGIA	Lien Recordation Charges:	\$173.91
MOUNTAIN HOUSE CA		T-4-1.	\$212.26

95391

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

	Code Enforcement Cases		
April 23, 2018		Sorted By Address C	ity Wide
256 Division: HIS Address: 32 LIEBIG ST	Inspector: Lepe	Supervisor District: 1 Assessment of Costs:	
Block/Lot: 7159 024 Directors Order No: 201160987 Owner Address: MARCELO ELEAZ	A AR	Interest @10 percent: Subtotal:	\$433.15 \$4,764.67
32 LIEBIG ST SAN FRANCISCO CA 94112		Lien Recordation Charges: Total:	\$173.91 \$4,938.58
257 Division: CES Address: 202 LILY ST	Inspector: Ng	Supervisor District: 5 Assessment of Costs:	\$96.72
Block/Lot: 0839 042 Directors Order No: 108865-A	- A	Interest @10 percent: Subtotal:	\$9.67 \$106.39
Owner Address: LEE DONALD T F 204 LILY ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94102		Total:	\$280.30
258 Division: CES Address: 202 LILY ST	Inspector: Ng	Supervisor District: 5 Assessment of Costs:	\$1,008.87
Block/Lot: 0839 042 Directors Order No: 108865-A	A	Interest @10 percent:	\$100.89
Owner Address: LEE DONALD T F 204 LILY ST SAN FRANCISCO CA	- A	Subtotal: Lien Recordation Charges:	\$1,109.76 \$173.91
94102		Total:	\$1,283.67
259 Division: CES Address: 1700 LOMBARD ST	Inspector: Gutierrez	Supervisor District: 2 Assessment of Costs:	\$1,015.56
Block/Lot: 0495 002A		Interest @10 percent:	\$101.56
Directors Order No: Owner Address: LATORA SALVAT	ORE C	Subtotal:	\$1,117.12
P O BOX 14634 SANTA ROSA CA		Lien Recordation Charges:	\$173.91
94501		Total:	\$1,291.03
260 Division: HIS Address: 2524 2530 LOMBARD S	Inspector: Lepe	Supervisor District: 2 Assessment of Costs:	\$1,164.37
Block/Lot: 0935 003		Interest @10 percent:	\$116.44
Directors Order No: 201621382	- A	Subtotal:	\$1,280.81
Owner Address: VINODKUMAR R & 44 MOULTON ST SAN FRANCISCO CA	& SANGITA V PA	Lien Recordation Charges:	\$173.91
04102		77-4-1.	D1 454 70

Total:

\$1,454.72

94123

Page 53 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
261 Division: CES Inspector: Gutierrez Address: 70 LUNDYS LN Block/Lot: 5610A 039 Directors Order No: 109135-A Owner Address: SLESINGER-WINSOR FAMILY TRU BRUCE M SLESINGER & ELIZABE 70 LUNDYS LN SAN FRANCISCO CA 94110	Supervisor District: 9 Assessment of Costs: \$386.88 Interest @10 percent: \$38.69 Subtotal: \$425.57 Lien Recordation Charges: \$173.91 Total: \$599.48
262 Division: CES Inspector: Gutierrez Address: 70 LUNDYS LN Block/Lot: 5610A 039 Directors Order No: 109135-A Owner Address: SLESINGER-WINSOR FAMILY TRU BRUCE M SLESINGER & ELIZABE 70 LUNDYS LN SAN FRANCISCO CA 94110	Supervisor District: 9 Assessment of Costs: \$1,440.48 Interest @10 percent: \$144.05 Subtotal: \$1,584.53 Lien Recordation Charges: \$173.91 Total: \$1,758.44
263 Division: CES Inspector: Ng Address: 489 MADRID ST Block/Lot: 6079 019 Directors Order No: 108725-A Owner Address: BRAVO VIRGINIA 489 MADRID ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$145.08 Interest @10 percent: \$14.51 Subtotal: \$159.59 Lien Recordation Charges: \$173.91 Total: \$333.50
264 Division: CES Inspector: Ng Address: 489 MADRID ST Block/Lot: 6079 019 Directors Order No: 108725-A Owner Address: BRAVO VIRGINIA 489 MADRID ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$948.51 Interest @10 percent: \$94.85 Subtotal: \$1,043.36 Lien Recordation Charges: \$173.91 Total: \$1,217.27
265 Division: CES Inspector: Ng Address: 489 MADRID ST Block/Lot: 6079 019 Directors Order No: 108888-A Owner Address: BRAVO VIRGINIA 489 MADRID ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$1,028.39 Interest @10 percent: \$102.84 Subtotal: \$1,131.23 Lien Recordation Charges: \$173.91 Total: \$1,305.14

Page 54 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address Ci	ty Wide
266 Division: CES In Address: 489 MADRID ST	nspector: Ng	Supervisor District: 11 Assessment of Costs:	\$241.80
Block/Lot: 6079 019		Interest @10 percent:	\$24.18
Directors Order No: 108888-A		Subtotal:	\$265.98
Owner Address: BRAVO VIRGINIA 489 MADRID ST		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94112		Total:	\$439.89
267 Division: CES In	nspector: Ng	Supervisor District: 11	,
Address: 489 MADRID ST		Assessment of Costs:	\$96.72
Block/Lot: 6079 019		Interest @10 percent:	\$9.67
Directors Order No: 108725-A		Subtotal:	\$106.39
Owner Address: BRAVO VIRGINIA 489 MADRID ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112		Total:	\$280.30
268 Division: CES In Address: 489 MADRID ST	nspector: Gutierrez	Supervisor District: 11 Assessment of Costs:	\$338.52
Block/Lot: 6079 019		Interest @10 percent:	\$33.85
Directors Order No: 109053-A		Subtotal:	\$372.37
Owner Address: BRAVO VIRGINIA 489 MADRID ST		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94112		Total:	\$546.28
269 Division: CES In	nspector: Gutierrez	Supervisor District: 11	
Address: 489 MADRID ST		Assessment of Costs:	\$1,983.25
Block/Lot: 6079 019		Interest @10 percent:	\$198.33
Directors Order No: 109053-A		Subtotal:	\$2,181.58
Owner Address: BRAVO VIRGINIA 489 MADRID ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112	•	Total:	\$2,355.49
270 Division: CES In	nspector: Ng	Supervisor District: 11	
Address: 566 MADRID ST		Assessment of Costs:	\$901.74
Block/Lot: 6087 038		Interest @10 percent:	\$90.17
Directors Order No: 108820-A		Subtotal:	\$991.91
Owner Address: LOPEZ JUAN ROSAS 566 MADRID ST SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94112	·	Total:	\$1,165.82

Page 55 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
271 Division: CES Inspector: Ng Address: 566 MADRID ST	Supervisor District: 11 Assessment of Costs: \$435.24
Block/Lot: 6087 038	Interest @10 percent: \$43.52
Directors Order No: 108820-A	Subtotal: \$478.76
Owner Address: LOPEZ JUAN ROSAS 566 MADRID ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94112	Total: \$652.67
272 Division: CES Inspector: Greene	Supervisor District: 11
Address: 1 MAJESTIC AV	Assessment of Costs: \$1,160.64
Block/Lot: 7048 049	Interest @10 percent: \$116.06
Directors Order No: 109286-A	Subtotal: \$1,276.70
Owner Address: SERVILLON MARIA A T 454 SOUTH HILL BLVD DALY CITY CA	Lien Recordation Charges: \$173.91
94014	Total: \$1,450.61
273 Division: CES Inspector: Gutierrez Address: 775 MANGELS AV	Supervisor District: 7 Assessment of Costs: \$1,357.94
Block/Lot: 3085 016	Interest @10 percent: \$135.79
Directors Order No: 108801-A	Subtotal: \$1,493.73
Owner Address: CHATMAN DEBORAH 775 MANGELS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94127	Total: \$1,667.64
274 Division: CES Inspector: Li	Supervisor District: 7
Address: 775 MANGELS AV	Assessment of Costs: \$96.72
Block/Lot: 3085 016	Interest @10 percent: \$9.67
Directors Order No: 109163-A	Subtotal: \$106.39
Owner Address: CHATMAN DEBORAH 775 MANGELS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94127	Total: \$280.30
275 Division: CES Inspector: Li	Supervisor District: 7
Address: 775 MANGELS AV	Assessment of Costs: \$1,303.21
Block/Lot: 3085 016	Interest @10 percent: \$130.32
Directors Order No: 109163-A	Subtotal: \$1,433.53
Owner Address: CHATMAN DEBORAH 775 MANGELS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94127	Total: \$1,607.44

Page 56 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address C	Sity Wide
276 Division: CES Address: 1320 MARIN ST	Inspector: Keane	Supervisor District: Assessment of Costs:	\$96.72
Block/Lot: 4353 010 Directors Order No:		Interest @10 percent:	\$9.67
Owner Address: LEE ALFRED & T.	A N. A. SVINI 12337 A NI	Subtotal:	\$106.39
1320 MARIN STREET SAN FRANCISCO CA	AM TIN KWAN	Lien Recordation Charges:	\$173.91
94124		Total:	\$280.30
277 Division: CES Address: 942 MARKET ST	Inspector: Gutierrez	Supervisor District: Assessment of Costs:	\$628.68
Block/Lot: 0341 018		Interest @10 percent:	\$62.87
Directors Order No: 109211-A		Subtotal:	\$691.55
Owner Address: LEE JEONG 30 MASON ST #201 SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94102		Total:	\$865.46
278 Division: CES Address: 942 MARKET ST	Inspector: Gutierrez	Supervisor District: Assessment of Costs:	\$241.80
Block/Lot: 0341 018		Interest @10 percent:	
Directors Order No: 109211-A		~	
Owner Address: LEE JEONG 30 MASON ST #201		Subtotal: Lien Recordation Charges:	\$265.98 \$173.91
SAN FRANCISCO CA 94102		Total:	\$439.89
279 Division: CES Address: 942 MARKET ST	Inspector: Gutierrez	Supervisor District: Assessment of Costs:	\$1,586.40
Block/Lot: 0341 018		Interest @10 percent:	\$158.64
Directors Order No: 109211-A		Subtotal:	\$1,745.04
Owner Address: LEE JEONG	•	Lien Recordation	ψ1,713.01
30 MASON ST #201 SAN FRANCISCO CA		Charges:	\$173.91
94102		Total:	\$1,918.95
280 Division: CES	Inspector: Li	Supervisor District: 7	
Address: 157 MARVIEW WY		Assessment of Costs:	\$1,518.58
Block/Lot: 2784 010		Interest @10 percent:	\$151.86
Directors Order No: 109091-A		Subtotal:	\$1,670.44
Owner Address: RABINOVICH AND 157 MARVIEW WAY SAN FRANCISCO CA	DREW & STRIGO	Lien Recordation Charges:	\$173.91
94131		Total:	\$1,844.35

Page 57 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
281 Division: CES Inspector: Li Address: 157 MARVIEW WY	Supervisor District: 7 Assessment of Costs: \$1,257.36
Block/Lot: 2784 010	Interest @10 percent: \$125.74
Directors Order No: 109091-A	Subtotal: \$1,383.10
Owner Address: RABINOVICH ANDREW & STRIGO 157 MARVIEW WAY SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94131	Total: \$1,557.01
282 Division: HIS Inspector: Mungovan Address: 44 MCALLISTER ST	Supervisor District: 6 Assessment of Costs: \$1,588.00
Block/Lot: 0349 004	Interest @10 percent: \$158.80
Directors Order No: 201640114 - A	•
Owner Address: 44 MCALLISTER ASSOCIATES LP	Subtotal: \$1,746.80
201 EDDY ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94102	Total: \$1,920.71
283 Division: CES Inspector: Gutierrez	Supervisor District: 5
Address: 1400 MCALLISTER ST	Assessment of Costs: \$628.68
Block/Lot: 0776 004	Interest @10 percent: \$62.87
Directors Order No: 109094-A	Subtotal: \$691.55
Owner Address: MCALLISTER PIERCE PARTNERS 700 LARKSPUR LANDING CIRCLE LARKSPUR CA	Lien Recordation Charges: \$173.91
94939	Total: \$865.46
284 Division: CES Inspector: Gutierrez	Supervisor District: 5
Address: 1400 MCALLISTER ST	Assessment of Costs: \$1,590.54
Block/Lot: 0776 004	Interest @10 percent: \$159.05
Directors Order No: 109094-A	Subtotal: \$1,749.59
Owner Address: MCALLISTER PIERCE PARTNERS	Lien Recordation
700 LARKSPUR LANDING CIRCLE LARKSPUR CA	Charges: \$173,91
94939	Total: \$1,923.50
285 Division: CES Inspector: Gutierrez	Supervisor District: 5
Address: 1400 MCALLISTER ST	Assessment of Costs: \$725.40
Block/Lot: 0776 004	Interest @10 percent: \$72.54
Directors Order No: 109094-A	Subtotal: \$797.94
Owner Address: MCALLISTER PIERCE PARTNERS 700 LARKSPUR LANDING CIRCLE LARKSPUR CA	Lien Recordation Charges: \$173.91
94939	Total: \$971.85

Page 58 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
286 Division: CES Inspector: Li Address: 659 MERCHANT ST	Supervisor District: 3 Assessment of Costs: \$1,557.31
Block/Lot: 0208 013	Interest @10 percent: \$155.73
Directors Order No: 109161-A	Subtotal: \$1,713.04
Owner Address: BRIXTON CP CHINATOWN LLC ATTN CANNAE PARTNERS 995 MARKET ST 2ND FL	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94111	Total: \$1,886.95
287 Division: CES Inspector: Li Address: 659 MERCHANT ST	Supervisor District: 3 Assessment of Costs: \$145.08
Block/Lot: 0208 013	Interest @10 percent: \$14.51
Directors Order No: 109161-A	Subtotal: \$159.59
Owner Address: BRIXTON CP CHINATOWN LLC ATTN CANNAE PARTNERS 995 MARKET ST 2ND FL	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94111	Total: \$333.50
288 Division: HIS Inspector: Barber	Supervisor District: 6
Address: 1288 MISSION ST	Assessment of Costs: \$554.92
Block/Lot: 3701 022	Interest @10 percent: \$55.49
Directors Order No:	Subtotal: \$610.41
Owner Address: VOZIKES 2017 LLC 533 AIRPORT BLVD UNIT 225 BURLINGAME CA	Lien Recordation Charges: \$173.91
94010	Total: \$784.32
289 Division: HIS Inspector: Barber Address: 2072 2074 MISSION ST	Supervisor District: 6 Assessment of Costs: \$4,635.11
Block/Lot: 3569 014	Interest @10 percent: \$463.51
Directors Order No: H201796491	Subtotal: \$5,098.62
Owner Address: M3 TR SF BAY PARTNERS LLC TTEE 101A CLAY ST STE 344	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94111	Total: \$5,272.53
290 Division: CES Inspector: Greene	Supervisor District: 9
Address: 2205 MISSION ST	Assessment of Costs: \$483.60
Block/Lot: 3590 035	Interest @10 percent: \$48.36
Directors Order No:	Subtotal: \$531.96
Owner Address: 2205 MISSION STREET LLC 314 LYTTON AVE STE 200 PALO ALTO CA	Lien Recordation Charges: \$173.91
94301	Total: \$705.87

Page 59 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
291 Division: CES Inspector: Greene Address: 2374 MISSION ST Block/Lot: 3596 015 Directors Order No: Owner Address: SHIMAMOTO STACEY L % STACEY L SHIMAMOTO, ET AL P.O. BOX 591556 SAN FRANCISCO CA 94159	Supervisor District: 9 Assessment of Costs: \$773.76 Interest @10 percent: \$77.38 Subtotal: \$851.14 Lien Recordation Charges: \$173.91 Total: \$1,025.05
292 Division: CES Inspector: Li Address: 2386 MISSION ST Block/Lot: 3596 119 Directors Order No: Owner Address: KEPNER STUART O % PONTAR REAL ESTATE 12 GEARY ST SUITE 506 SAN FRANCISCO CA 94108	Supervisor District: 9 Assessment of Costs: \$822.00 Interest @10 percent: \$82.20 Subtotal: \$904.20 Lien Recordation Charges: \$173.91 Total: \$1,078.11
293 Division: CES Inspector: Greene Address: 3300 MISSION ST Block/Lot: 6635 001 Directors Order No: Owner Address: OAK MISSION LLC 3650 MT DIABLO BLVD STE 220 LAFAYETTE CA 94549	Supervisor District: 9 Assessment of Costs: \$628.68 Interest @10 percent: \$62.87 Subtotal: \$691.55 Lien Recordation Charges: \$173.91 Total: \$865.46
294 Division: CES Inspector: Gunnell Address: 3308 MISSION ST Block/Lot: 6635 001 Directors Order No: 108797-A Owner Address: OAK MISSION LLC 3650 MT DIABLO BLVD STE 220 LAFAYETTE CA 94549	Supervisor District: 9 Assessment of Costs: \$1,070.72 Interest @10 percent: \$107.07 Subtotal: \$1,177.79 Lien Recordation Charges: \$173.91 Total: \$1,351.70
295 Division: CES Inspector: Li Address: 4380 MISSION ST Block/Lot: 6798 041 Directors Order No: 109253-A Owner Address: SHUI MING WONG REVOC TRUST WONG GEORGE SUCC TRUSTEE 232 PARIS ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Page 60 of 88

April 23, 2018	Sorted By Address City Wide
296 Division: CES Inspector: Li Address: 4500 MISSION ST	Supervisor District: 11 Assessment of Costs: \$48.36
Block/Lot: 3147 001	Interest @10 percent: \$4.84
Directors Order No: 108894-A	Subtotal: \$53.20
Owner Address: MISSION SANTA ROSA BROS LLC 3288 STEINER ST 2ND FL SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94123	Total: \$227.11
297 Division: CES Inspector: Ng	Supervisor District: 11
Address: 4500 MISSION ST	Assessment of Costs: \$193.44
Block/Lot: 3147 001	Interest @10 percent: \$19.34
Directors Order No: 108985-A	Subtotal: \$212.78
Owner Address: MISSION SANTA ROSA BROS LLC 3288 STEINER ST 2ND FL SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94123	Total: \$386.69
298 Division: CES Inspector: Li	Supervisor District: 11
Address: 4500 MISSION ST	Assessment of Costs: \$1,158.13
Block/Lot: 3147 001	Interest @10 percent: \$115.81
Directors Order No: 108894-A	Subtotal: \$1,273.94
Owner Address: MISSION SANTA ROSA BROS LLC 3288 STEINER ST 2ND FL	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$1,447.85
299 Division: CES Inspector: Greene	Supervisor District: 10
Address: 328 MISSISSIPPI ST	Assessment of Costs: \$1,161.48
Block/Lot: 4038 003	Interest @10 percent: \$116.15
Directors Order No: 109204-A	Subtotal: \$1,277.63
Owner Address: HINSHAW CAROLINE K 328 MISSISSIPPI ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94107	Total: \$1,451.54
300 Division: CES Inspector: Greene	Supervisor District: 10
Address: 328 MISSISSIPPI ST	Assessment of Costs: \$290.16
Block/Lot: 4038 003	Interest @10 percent: \$29.02
Directors Order No: 109204-A	Subtotal: \$319.18
Owner Address: HINSHAW CAROLINE K 328 MISSISSIPPI ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94107	Total: \$493.09

Page 61 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

Code Enforcement Cases

Code Enforcement Cases			
April 23, 2018		Sorted By Address C	ity Wide
•		Supervisor District: 7	
Address: 714 716 MONTEREY BL		Assessment of Costs:	\$2,828.17
Block/Lot: 3095 008		Interest @10 percent:	\$282.82
Directors Order No: 201387963 - A	\$	Subtotal:	\$3,110.99
Owner Address: TUNG VICTOR 714 - 716 MONTEREY BLVD SAN FRANCISCO CA	I	Lien Recordation Charges:	\$173.91
94127		Total:	\$3,284.90
302 Division: CES Inspe	ector: Keane	Supervisor District: 3	
Address: 850 MONTGOMERY ST		Assessment of Costs:	\$193.44
Block/Lot: 0175 033]	Interest @10 percent:	\$19.34
Directors Order No:		Subtotal:	\$212.78
Owner Address: SUNHILL ENTERPRISES 147 LOMITA DR, STE G MILL VALLEY CA	SLP	Lien Recordation Charges:	\$173.91
94941		Total:	\$386.69
303 Division: CES Inspect		Supervisor District: 3 Assessment of Costs:	\$96.72
Block/Lot: 0175 033]	Interest @10 percent:	\$9.67
Directors Order No:		Subtotal:	\$106.39
Owner Address: SUNHILL ENTERPRISES LP 147 LOMITA DR, STE G MILL VALLEY CA	LP . J	Lien Recordation Charges:	\$173.91
94941		Total:	\$280.30
304 Division: CES Inspe	ector: Greene	Supervisor District: 10	
Address: 1656 1658 NEWCOMB A		Assessment of Costs:	\$1,252.74
Block/Lot: 5306 006	1	Interest @10 percent:	\$125.27
Directors Order No: 109227-A		Subtotal:	\$1,378.01
Owner Address: WU XIAOQI 362 GELLERT BLVD DALY CITY CA		Lien Recordation Charges:	\$173.91
94015	· <u>1</u>	Fotal:	\$1,551.92
305 Division: CES Inspe	ector: Gunnell	Supervisor District: 10	
Address: 1741 NEWHALL ST		Assessment of Costs:	\$2,176.20
Block/Lot: 5343 021	I	Interest @10 percent:	\$217.62
Directors Order No: 109368-A	S	Subtotal:	\$2,393.82
Owner Address: GIRON BLANCA 1741 NEWHALL ST	. 1	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA	n	- U. 41.	40.565.50

Total:

\$2,567.73

94124

Page 62 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
306 Division: CES Inspector: Li Address: 1413 NOE ST	Supervisor District: 8 Assessment of Costs: \$1,402.44
Block/Lot: 6591 022A	Interest @10 percent: \$140.24
Directors Order No:	Subtotal: \$1,542.68
Owner Address: RODRIGUEZ ALFONSO T 320 CORONADO AVENUE HALF MOON BAY CA	Lien Recordation Charges: \$173.91
94019	Total: \$1,716.59
307 Division: CES Inspector: Greene Address: 1900 NORIEGA ST	Supervisor District: 4 Assessment of Costs: \$145.08
Block/Lot: 2023 027	Interest @10 percent: \$14.51
Directors Order No:	Subtotal: \$159.59
Owner Address: LANGER SABINA % NORIEGA CAPTAL GROUP LLC	Lien Recordation Charges: \$173.91
8665 WILSHIRE BLVD #410 BEVERLY HILLS CA 90211	Total: \$333.50
308 Division: CES Inspector: Li Address: 5 NORTH VIEW CT	Supervisor District: 2 Assessment of Costs: \$48.36
Block/Lot: 0476 007C	Interest @10 percent: \$4.84
Directors Order No: 108850-A	Subtotal: \$53.20
Owner Address: SCOTT FMLY TR SCOTT DIANA L & RONALD B TT	Lien Recordation Charges: \$173.91
5 N VIEW CT SAN FRANCISCO CA 94109	Total: \$227.11
309 Division: CES Inspector: Li Address: 5 NORTH VIEW CT	Supervisor District: 2 Assessment of Costs: \$1,223.51
Block/Lot: 0476 007C	Interest @10 percent: \$122.35
Directors Order No: 108850-A	Subtotal: \$1,345.86
Owner Address: SCOTT FMLY TR SCOTT DIANA L & RONALD B TT 5 N VIEW CT	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94109	Total: \$1,519.77
310 Division: CES Inspector: Gunnell Address: 485 O'FARRELL ST	Supervisor District: 6 Assessment of Costs: \$145.08
Block/Lot: 0324 015	Interest @10 percent: \$14.51
Directors Order No: 109223-A	
Owner Address: FASAIL GAPIR 2435 TELEGRAPH AVE	Subtotal: \$159.59 Lien Recordation Charges: \$173.91
OAKLAND CA 94612	Total: \$333.50

Page 63 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address C	ity Wide
311 Division: CES Inst	spector: Gunnell	Supervisor District: 6 Assessment of Costs:	\$960.15
Block/Lot: 0324 015		Interest @10 percent:	\$96.02
Directors Order No: 109223-A		Subtotal:	\$1,056.17
Owner Address: FASAIL GAPIR 2435 TELEGRAPH AVE OAKLAND CA		Lien Recordation Charges:	\$173.91
94612		Total:	\$1,230.08
	spector: Gunnell	Supervisor District: 7	
Address: 1939 OCEAN AV	•	Assessment of Costs:	\$1,354.08
Block/Lot: 6915 025		Interest @10 percent:	\$135.41
Directors Order No:	***	Subtotal:	\$1,489.49
Owner Address: LAU JEFFREY & SOPE 785 COLUMBUS AVE SAN FRANCISCO CA	HE	Lien Recordation Charges:	\$173.91
94133		Total:	\$1,663.40
313 Division: CES Ins	spector: Gunnell	Supervisor District: 7	
Address: 1939 OCEAN AV		Assessment of Costs:	\$1,405.28
Block/Lot: 6915 025		Interest @10 percent:	\$140.53
Directors Order No: 108674-A		Subtotal:	\$1,545.81
Owner Address: LAU JEFFREY & SOPE 785 COLUMBUS AVE SAN FRANCISCO CA	HIE	Lien Recordation Charges:	\$173.91
94133	·	Total:	\$1,719.72
314 Division: CES Ins	spector: Gunnell	Supervisor District: 7	
Address: 1939 OCEAN AV		Assessment of Costs:	\$1,354.08
Block/Lot: 6915 025		Interest @10 percent:	\$135.41
Directors Order No: 108674-A		Subtotal:	\$1,489.49
Owner Address: LAU JEFFREY & SOPE 785 COLUMBUS AVE SAN FRANCISCO CA	HE .	Lien Recordation Charges:	\$173.91
94133		Total:	\$1,663.40
315 Division: CES Ins	spector: Gunnell	Supervisor District: 7	
Address: 1939 OCEAN AV		Assessment of Costs:	\$1,405.28
Block/Lot: 6915 025		Interest @10 percent:	\$140.53
Directors Order No: 108675-A		Subtotal:	\$1,545.81
Owner Address: LAU JEFFREY & SOPE 785 COLUMBUS AVE	IIE	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94133		Total:	\$1,719.72

Page 64 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
316 Division: CES Inspector: Gunnell Address: 1939 OCEAN AV	Supervisor District: 7 Assessment of Costs: \$1,354.08
Block/Lot: 6915 025	Interest @10 percent: \$135.41
Directors Order No: 108675-A	Subtotal: \$1,489.49
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$1,663.40
317 Division: CES Inspector: Gunnell	Supervisor District: 7
Address: 1945 OCEAN AV	Assessment of Costs: \$1,354.08
Block/Lot: 6915 025	Interest @10 percent: \$135.41
Directors Order No: 108675-A	Subtotal: \$1,489.49
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$1,663.40
318 Division: CES Inspector: Gunnell	Supervisor District: 7
Address: 1945 OCEAN AV	Assessment of Costs: \$1,405.28
Block/Lot: 6915 025	Interest @10 percent: \$140.53
Directors Order No: 108675-A	Subtotal: \$1,545.81
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$1,719.72
319 Division: CES Inspector: Gunnell Address: 1945 OCEAN AV	Supervisor District: 7 Assessment of Costs: \$1,354.08
Block/Lot: 6915 025	
Directors Order No:	Interest @10 percent: \$135.41
Owner Address: LAU JEFFREY & SOPHIE	Subtotal: \$1,489.49
785 COLUMBUS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94133	Total: \$1,663.40
320 Division: CES Inspector: Gunnell	Supervisor District: 7
Address: 1945 OCEAN AV	Assessment of Costs: \$1,405.28
Block/Lot: 6915 025	Interest @10 percent: \$140.53
Directors Order No: 108674-A	Subtotal: \$1,545.81
Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94133	Total: \$1,719.72

Page 65 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	S	orted By Address Ci	ty Wide
321 Division: CES Inspect Address: 1945 OCEAN AV Block/Lot: 6915 025 Directors Order No: 108674-A Owner Address: LAU JEFFREY & SOPHIE 785 COLUMBUS AVE SAN FRANCISCO CA 94133	I S I	Supervisor District: 7 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges:	\$1,354.08 \$135.41 \$1,489.49 \$173.91 \$1,663.40
322 Division: HIS Inspect Address: 531 539 OCTAVIA ST Block/Lot: 0807 043 Directors Order No: H201833791 Owner Address: TOBIN TIMOTHY J & DEB 100 THE EMBARCADERO # 200 SAN FRANCISCO CA 94105	In SORAH L L	Supervisor District: Assessment of Costs: nterest @10 percent: Subtotal: Lien Recordation Charges:	\$2,732.48 \$273.25 \$3,005.73 \$173.91 \$3,179.64
323 Division: CES Inspect Address: 1916 OCTAVIA ST Block/Lot: 0640 011 Directors Order No: 108705-A Owner Address: 1916 OCTAVIA STREET LI C/O ACADEMY OF ART UNIVERS: 79 NEW MONTGOMERY ST SAN FRANCISCO CA 94105	In S.C. L.	Assessment of Costs: nterest @10 percent: Subtotal: Lien Recordation Charges: Cotal:	\$241.80 \$24.18 \$265.98 \$173.91 \$439.89
324 Division: CES Inspect Address: 1916 OCTAVIA ST Block/Lot: 0640 011 Directors Order No: 108705-A Owner Address: 1916 OCTAVIA STREET LI C/O ACADEMY OF ART UNIVERS: 79 NEW MONTGOMERY ST SAN FRANCISCO CA 94105	In S.C. L.	Supervisor District: 2 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges:	
325 Division: CES Inspect Address: 1916 OCTAVIA ST Block/Lot: 0640 011 Directors Order No: 108705-A Owner Address: 1916 OCTAVIA STREET LL C/O ACADEMY OF ART UNIVERSITY 79 NEW MONTGOMERY ST SAN FRANCISCO CA 94105	In S.C. L.	Supervisor District: 2 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges: Cotal:	\$504.97 \$50.50 \$555.47 \$173.91 \$729.38

Page 66 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
326 Division: CES Inspector: Li Address: 165 OFARRELL ST Block/Lot: 0327 018 Directors Order No: 103921-A Owner Address: SAN FRANCISCO OFARRELL PRJT STEVEN TSANG P.O. BOX 1688 MOUNTAIN VIEW CA 94042	Supervisor District: 6 Assessment of Costs: \$346.87 Interest @10 percent: \$34.69 Subtotal: \$381.56 Lien Recordation Charges: \$173.91 Total: \$555.47
327 Division: CES Inspector: Keane Address: 49 OLIVER ST Block/Lot: 6473 027 Directors Order No: 108954-A Owner Address: JACINTO VILLA M 49 OLIVER ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$1,762.64 Interest @10 percent: \$176.26 Subtotal: \$1,938.90 Lien Recordation Charges: \$173.91 Total: \$2,112.81
328 Division: CES Inspector: Keane Address: 49 OLIVER ST Block/Lot: 6473 027 Directors Order No: 108954-A Owner Address: JACINTO VILLA M 49 OLIVER ST SAN FRANCISCO CA 94112	Supervisor District: 11 Assessment of Costs: \$48.36 Interest @10 percent: \$4.84 Subtotal: \$53.20 Lien Recordation Charges: \$173.91 Total: \$227.11
329 Division: CES Inspector: Greene Address: 2519 PACHECO ST Block/Lot: 2149 019 Directors Order No: Owner Address: NELSON KIT 2519 PACHECO STREET SAN FRANCISCO CA 94116	Supervisor District: 4 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69
330 Division: CES Inspector: Mather Address: 1647 PACIFIC AV Block/Lot: 0595 203 Directors Order No: 107682-A Owner Address: MISHINA LARISA 1489 DUPRE CT CONCORD CA 94518	Supervisor District: Assessment of Costs: \$267.82 Interest @10 percent: \$26.78 Subtotal: \$294.60 Lien Recordation Charges: \$173.91 Total: \$468.51

Page 67 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
331 Division: CES Inspector: Gutierrez Address: 3577 PACIFIC AV	Supervisor District: 2 Assessment of Costs: \$1,934.40
Block/Lot: 0970 014	Interest @10 percent: \$193.44
Directors Order No:	Subtotal: \$2,127.84
Owner Address: HIGHWAY ONE HOME LLC % DANIEL GRANT 222 WEST ADAMS	Lien Recordation Charges: \$173.91
CHICAGO IL 60606	Total: \$2,301.75
332 Division: HIS Inspector: Barber	Supervisor District: 5
Address: 1880 PAGE ST	Assessment of Costs: \$4,245.45
Block/Lot: 1226 017	Interest @10 percent: \$424.55
Directors Order No: H201835893	Subtotal: \$4,670.00
Owner Address: JOHN E WAI 1981 LVG TR P.O. BOX 641045 SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94164	Total: \$4,843.91
333 Division: CES Inspector: Greene Address: 1187 PALOU AV	Supervisor District: 10 Assessment of Costs: \$1,464.48
Block/Lot: 4757 014	Interest @10 percent: \$146.45
Directors Order No: 109196-A	Subtotal: \$1,610.93
Owner Address: ZHU CHUAN 362 GELLERT BLVD	Lien Recordation Charges: \$173.91
DALY CITY CA 94015	Total: \$1,784.84
334 Division: CES Inspector: Keane Address: 857 PERALTA AV	Supervisor District: 9 Assessment of Costs: \$918.84
Block/Lot: 5691 032	Interest @10 percent: \$91.88
Directors Order No: 108968-A	Subtotal: \$1,010.72
Owner Address: ARMSTRONG JACQUELINE & NAOM JACQUELINE ARMSTRONG 1582 LA SALLE AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94124	Total: \$1,184.63
335 Division: CES Inspector: Keane	Supervisor District: 9
Address: 857 PERALTA AV	Assessment of Costs: \$145.08
Block/Lot: 5691 032	Interest @10 percent: \$14.51
Directors Order No: 108968-A	Subtotal: \$159.59
Owner Address: ARMSTRONG JACQUELINE & NAOM JACQUELINE ARMSTRONG 1582 LA SALLE AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94124	Total: \$333.50

Page 68 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
336 Division: CES Inspector: Keane Address: 857 PERALTA AV	Supervisor District: 9 Assessment of Costs: \$1,212.16
Block/Lot: 5691 032	Interest @10 percent: \$121.22
Directors Order No: 108968-A	Subtotal: \$1,333.38
Owner Address: ARMSTRONG JACQUELINE & NAOM JACQUELINE ARMSTRONG 1582 LA SALLE AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94124	Total: \$1,507.29
337 Division: CES Inspector: Keane Address: 950 PERALTA AV	Supervisor District: 9 Assessment of Costs: \$48.36
Block/Lot: 5696 036	•
Directors Order No: 108832-A	Interest @10 percent: \$4.84
Owner Address: 992 PERALTA STREET LLC	Subtotal: \$53.20
% CENTERSTONE PROPERTY MANA 1965 MARKET ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94103	Total: \$227.11
338 Division: CES Inspector: Keane Address: 950 PERALTA AV	Supervisor District: 9 Assessment of Costs: \$48.36
Block/Lot: 5696 036	Interest @10 percent: \$4.84
Directors Order No: 108830-A	Subtotal: \$53.20
Owner Address: 992 PERALTA STREET LLC % CENTERSTONE PROPERTY MANA	Lien Recordation Charges: \$173.91
1965 MARKET ST SAN FRANCISCO CA 94103	Total: \$227.11
339 Division: CES Inspector: Keane Address: 950 PERALTA AV	Supervisor District: 9 Assessment of Costs: \$2,047.10
Block/Lot: 5696 036	Interest @10 percent: \$204.71
Directors Order No: 108829-A	Subtotal: \$2,251.81
Owner Address: 992 PERALTA STREET LLC % CENTERSTONE PROPERTY MANA 1965 MARKET ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94103	Total: \$2,425.72
340 Division: CES Inspector: Keane	Supervisor District: 9
Address: 950 PERALTA AV	Assessment of Costs: \$48.36
Block/Lot: 5696 036	Interest @10 percent: \$4.84
Directors Order No: 108831-A	Subtotal: \$53.20
Owner Address: 992 PERALTA STREET LLC % CENTERSTONE PROPERTY MANA	Lien Recordation Charges: \$173.91
1965 MARKET ST SAN FRANCISCO CA 94103	Total: \$227.11

Page 69 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
341 Division: CES Inspector: Keane Address: 418 PERSIA AV	Supervisor District: 11 Assessment of Costs: \$96.72
Block/Lot: 6088 017	Interest @10 percent: \$9.67
Directors Order No:	Subtotal: \$106.39
Owner Address: TRAN OANH KIM 125 PALM AVE MILLBRAE CA	Lien Recordation Charges: \$173.91
94030	Total: \$280.30
342 Division: CES Inspector: Gutierr	rez Supervisor District: 11
Address: 418 PERSIA AV	Assessment of Costs: \$338.52
Block/Lot: 6088 017	Interest @10 percent: \$33.85
Directors Order No: 109210-A	Subtotal: \$372.37
Owner Address: TRAN OANH KIM 125 PALM AVE MILLBRAE CA	Lien Recordation Charges: \$173.91
94030	Total: \$546.28
343 Division: CES Inspector: Gutierr Address: 418 PERSIA AV	Supervisor District: 11 Assessment of Costs: \$1,559.48
Block/Lot: 6088 017	
Directors Order No: 109210-A	Interest @10 percent: \$155.95
Owner Address: TRAN OANH KIM	Subtotal: \$1,715.43 Lien Recordation
125 PALM AVE MILLBRAE CA	Charges: \$173.91
94030	Total: \$1,889.34
344 Division: HIS Inspector: Barber	Supervisor District: 3
Address: 1729 1739 POLK ST	Assessment of Costs: \$3,015.44
Block/Lot: 0619 002	Interest @10 percent: \$301.54
Directors Order No: H201835902	Subtotal: \$3,316.98
Owner Address: NGUYEN VENTURE LLC 301 TOCOLOMA AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$3,490.89
345 Division: HIS Inspector: Barber	Supervisor District: 3
Address: 1735 POLK ST	Assessment of Costs: \$3,015.44
Block/Lot: 0619 002	Interest @10 percent: \$301.54
Directors Order No: H201835902	Subtotal: \$3,316.98
Owner Address: NGUYEN VENTURE LLC 301 TOCOLOMA AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$3,490.89

Page 70 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address C	ity Wide
346 Division: CES Address: 2031 POLK ST Block/Lot: 0574 004 Directors Order No: 108683-A Owner Address: CHEN ZHAO PING 2031 POLK ST	Inspector: Keane	Supervisor District: 3 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation	\$212.78
SAN FRANCISCO CA 94109		Charges: Total:	\$173.91 \$386.69
347 Division: CES Address: 2031 POLK ST Block/Lot: 0574 004 Directors Order No: 108683-A Owner Address: CHEN ZHAO PING 2031 POLK ST SAN FRANCISCO CA 94109	Inspector: Keane	Supervisor District: 3 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges: Total:	\$1,124.61 \$112.46 \$1,237.07 \$173.91 \$1,410.98
348 Division: CES Address: 245 POPE ST Block/Lot: 6480 025 Directors Order No: Owner Address: ZERMENO VERON 245 POPE ST SAN FRANCISCO CA 94100	Inspector: Gunnell	Supervisor District: 13 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges: Total:	\$386.88
349 Division: CES Address: 470 POST ST Block/Lot: 0296 020 Directors Order No: 109101-A Owner Address: GOOD POST LLC C/O KOUROS TAVAKOLI 1230 STOCKTON ST SAN FRANCISCO CA 94133	Inspector: Ng	Supervisor District: Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges: Total:	\$145.08 \$14.51 \$159.59 \$173.91 \$333.50
350 Division: HIS Address: 1010 POST ST Block/Lot: 0692 003 Directors Order No: H201624591 Owner Address: NEW CENTURY M		Supervisor District: 3 Assessment of Costs: Interest @10 percent: Subtotal: Lien Recordation Charges: Total:	\$500.00 \$50.00 \$550.00 \$173.91 \$723.91

Page 71 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018		Sorted By Address City Wide	
351 Division: CES Address: 1056 POTRERO AV	Inspector: Greene	Supervisor District: 9 Assessment of Costs:	\$929.82
Block/Lot: 4153 008		Interest @10 percent:	\$92.98
Directors Order No: 109338-A		Subtotal:	\$1,022.80
Owner Address: GALANDE MARIO 1056-1060 POTRERO AVE SAN FRANCISCO CA		Lien Recordation Charges:	\$173.91
94110		Total:	\$1,196.71
352 Division: CES	Inspector: Gutierrez	Supervisor District: 9	
Address: 1146 POTRERO AV		Assessment of Costs:	\$1,330.74
Block/Lot: 4211 010		Interest @10 percent:	\$133.07
	- A	Subtotal:	\$1,463.81
Owner Address: LOPEZ BERTA M 1146 POTRERO AVE SAN FRANCISCO CA 94110		Lien Recordation Charges:	\$173.91
		Total:	\$1,637.72
353 Division: CES Address: 1146 POTRERO AV Block/Lot: 4211 010	Inspector: Gutierrez	Supervisor District: 9 Assessment of Costs:	\$241.80
		Interest @10 percent:	
Directors Order No: 190335	- A	Subtotal:	\$265.98
Owner Address: LOPEZ BERTA M 1146 POTRERO AVE		Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94110		Total:	\$439.89
354 Division: CES Address: 1051 POWELL ST	Inspector: Ng	Supervisor District: 3 Assessment of Costs:	\$918.84
Block/Lot: 0212 004		Interest @10 percent:	\$91.88
Directors Order No: 108768-A		Subtotal:	\$1,010.72
Owner Address: CHI SIN BUDDHIS' 1051 POWELL ST SAN FRANCISCO CA	Γ& TAOIST A	Lien Recordation Charges:	\$173.91
94108		Total:	\$1,184.63
355 Division: CES	Inspector: Ng	Supervisor District: 3	
Address: 1051 POWELL ST		Assessment of Costs:	\$145.08
Block/Lot: 0212 004		Interest @10 percent:	\$14.51
Directors Order No: 108768-A		Subtotal:	\$159.59
Owner Address: CHI SIN BUDDHIST 1051 POWELL ST SAN FRANCISCO CA 94108	C& TAOIST A	Lien Recordation Charges:	\$173.91
		Total:	\$333.50

Page 72 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
356 Division: CES Inspector: Ng Address: 1656 POWELL ST Block/Lot: 0117 016 Directors Order No: 108972-A Owner Address: POWELL STREET GROUP LP 100 GREEN ST SAN FRANCISCO CA 94111	Supervisor District: 3 Assessment of Costs: \$435.24 Interest @10 percent: \$43.52 Subtotal: \$478.76 Lien Recordation Charges: \$173.91 Total: \$652.67
357 Division: CES Inspector: Greene Address: 2201 POWELL ST Block/Lot: 0041 006 Directors Order No: Owner Address: GIUSTI MARCIA OLD REPUBLIC TITLE CO 121 GOLD RUSH CT CLAYTON CA 94517	Supervisor District: 3 Assessment of Costs: \$338.52 Interest @10 percent: \$33.85 Subtotal: \$372.37 Lien Recordation Charges: \$173.91 Total: \$546.28
358 Division: CES Inspector: Gutierrez Address: 212 PUTNAM ST Block/Lot: 5730 004 Directors Order No: 109324-A Owner Address: PGN DESIGN GROUP LLC ROBERT L WILLIAMS 11424 VICTORIA AVE LOS ANGELES CA 90066	Supervisor District: 9 Assessment of Costs: \$1,260.53 Interest @10 percent: \$126.05 Subtotal: \$1,386.58 Lien Recordation Charges: \$173.91 Total: \$1,560.49
359 Division: CES Inspector: Gutierrez Address: 212 PUTNAM ST Block/Lot: 5730 004 Directors Order No: 109324-A Owner Address: PGN DESIGN GROUP LLC ROBERT L WILLIAMS 11424 VICTORIA AVE LOS ANGELES CA 90066	Supervisor District: 9 Assessment of Costs: \$1,402.44 Interest @10 percent: \$140.24 Subtotal: \$1,542.68 Lien Recordation Charges: \$173.91 Total: \$1,716.59
360 Division: CES Inspector: Li Address: 212 PUTNAM ST Block/Lot: 5730 004 Directors Order No: 109364-A Owner Address: PGN DESIGN GROUP LLC ROBERT L WILLIAMS 11424 VICTORIA AVE LOS ANGELES CA 90066	Supervisor District: 9 Assessment of Costs: \$677.04 Interest @10 percent: \$67.70 Subtotal: \$744.74 Lien Recordation Charges: \$173.91 Total: \$918.65

Page 73 of 88

April 23, 2018		Sorted By Address City Wide
361 Division: CES Address: 444 RALSTON ST	Inspector: Li	Supervisor District: 11 Assessment of Costs: \$145.08
Block/Lot: 6995 034		Interest @10 percent: \$14.51
Directors Order No:		Subtotal: \$159.59
Owner Address: KONG AMY YUK 444 RALSTON ST SAN FRANCISCO CA	LING	Lien Recordation Charges: \$173.91
94132		Total: \$333.50
362 Division: CES	Inspector: Gutierrez	Supervisor District: 10
Address: 1200 REVERE AV		Assessment of Costs: \$1,217.84
Block/Lot: 4762 002		Interest @10 percent: \$121.78
Directors Order No: 108686-A		Subtotal: \$1,339.62
Owner Address: HE QUAN & ZHO 4799 TUSCANY CIR SAN JOSE CA	NG YAN	Lien Recordation Charges: \$173.91
95135		Total: \$1,513.53
363 Division: CES	Inspector: Gutierrez	Supervisor District: 10
Address: 1200 REVERE AV Block/Lot: 4762 002		Assessment of Costs: \$96.72
Directors Order No: 108686-A		Interest @10 percent: \$9.67
Owner Address: HE QUAN & ZHO	NG YAN	Subtotal: \$106.39
4799 TUSCANY CIR SAN JOSE CA		Lien Recordation Charges: \$173.91
95135	,	Total: \$280.30
364 Division: CES	Inspector: Gutierrez	Supervisor District: 10
Address: 1200 REVERE AV Block/Lot: 4762 002		Assessment of Costs: \$193.44
Directors Order No: 108686-A		Interest @10 percent: \$19.34
Owner Address: HE QUAN & ZHO	NG YAN	Subtotal: \$212.78
4799 TUSCANY CIR SAN JOSE CA		Lien Recordation Charges: \$173.91
95135		Total: \$386.69
365 Division: CES	Inspector: Greene	Supervisor District: 10
Address: 1351 REVERE AV		Assessment of Costs: \$1,494.84
Block/Lot: 4788 020A		Interest @10 percent: \$149.48
Directors Order No: 109197-A		Subtotal: \$1,644.32
Owner Address: WU XIAOQI 362 GELLERT BLVD DALY CITY CA		Lien Recordation Charges: \$173.91
94015	٠.	Total: \$1,818.23

April 23, 2018	Sorted By Address C	ity Wide
366 Division: CES Inspector: Greene Address: 30 ROCKWOOD CT	Supervisor District: 7 Assessment of Costs:	\$386.88
Block/Lot: 2936A 023	Interest @10 percent:	\$38.69
Directors Order No: 109388-A	Subtotal:	\$425.57
Owner Address: SUTTON DAVID H 7461 CRYSTAL FOREST DR LAS VEGAS NV	Lien Recordation Charges:	\$173.91
89117	Total:	\$599.48
367 Division: CES Inspector: Ng	Supervisor District: 8	
Address: 284 ROOSEVELT WY	Assessment of Costs:	\$929.82
Block/Lot: 2607 037	Interest @10 percent:	\$92.98
Directors Order No: 108923-A	Subtotal:	\$1,022.80
Owner Address: SHRIGLEY HOLDINGS INC 703 PALOMAR AIRPORT RD STE CARLSBAD CA	Lien Recordation Charges:	\$173.91
92011	Total:	\$1,196.71
368 Division: CES Inspector: Ng	Supervisor District: 5	#2.41.00
Address: 285 ROSE ST Block/Lot: 0852 010A	Assessment of Costs:	\$241.80
Directors Order No: 109009-A	Interest @10 percent:	
Owner Address: TISCHLER FAMILY TRUST	Subtotal:	\$265.98
ANDREA JAIME TISCHLER TRUST 375 HOAKA RD	Lien Recordation Charges:	\$173.91
HILO HI 96720	Total:	\$439.89
369 Division: CES Inspector: Ng	Supervisor District: 5	4000 16
Address: 285 ROSE ST	Assessment of Costs:	\$290.16
Block/Lot: 0852 010A Directors Order No: 109009-A	Interest @10 percent:	\$29.02
Owner Address: TISCHLER FAMILY TRUST	Subtotal:	\$319.18
ANDREA JAIME TISCHLER TRUST 375 HOAKA RD	Lien Recordation Charges:	\$173.91
HILO HI 96720	Total:	\$493.09
370 Division: CES Inspector: Ng	Supervisor District: 5	
Address: 285 ROSE ST	Assessment of Costs:	\$1,143.82
Block/Lot: 0852 010A	Interest @10 percent:	\$114.38
Directors Order No: 109009-A	Subtotal:	\$1,258.20
Owner Address: TISCHLER FAMILY TRUST ANDREA JAIME TISCHLER TRUST 375 HOAKA RD	Lien Recordation Charges:	\$173.91
HILO HI 96720	Total:	\$1,432.11

Page 75 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
371 Division: CES Inspector: Li Address: 972 RUTHLAND ST Block/Lot: 6304 014 Directors Order No: 109090-A	Supervisor District: 10 Assessment of Costs: \$1,518.51 Interest @10 percent: \$151.85 Subtotal: \$1,670.36
Owner Address: HUANG XIFENG & WU YANG ZHON 972 RUTLAND ST SAN FRANCISCO CA 94134	Lien Recordation Charges: \$173.91 Total: \$1,844.27
372 Division: CES Inspector: Li Address: 972 RUTHLAND ST Block/Lot: 6304 014 Directors Order No: 109090-A Owner Address: HUANG XIFENG & WU YANG ZHON 972 RUTLAND ST SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$967.20 Interest @10 percent: \$96.72 Subtotal: \$1,063.92 Lien Recordation Charges: \$173.91 Total: \$1,237.83
373 Division: HIS Inspector: Mungovan Address: 672 SACRAMENTO ST Block/Lot: 0227 016 Directors Order No: 200874821 - A Owner Address: CHUNG ENTERPRISES L P % JONES PACIFIC LAND CO INC 25 KEARNY ST #302 SAN FRANCISCO CA 94108	Supervisor District: 3 Assessment of Costs: \$2,047.01 Interest @10 percent: \$204.70 Subtotal: \$2,251.71 Lien Recordation Charges: \$173.91 Total: \$2,425.62
374 Division: CES Inspector: Li Address: 3340 SAN BRUNO AV Block/Lot: 6172 037 Directors Order No: 107798-A Owner Address: LIANG ZHICHAO 3340 SAN BRUNO AVE APT#5 SAN FRANCISCO CA 94134	Supervisor District: 10 Assessment of Costs: \$822.12 Interest @10 percent: \$82.21 Subtotal: \$904.33 Lien Recordation Charges: \$173.91 Total: \$1,078.24
375 Division: CES Inspector: Li Address: 519 SANCHEZ ST Block/Lot: 3585 065 Directors Order No: 105352-A Owner Address: ELLIOTT JOEL 519 SANCHEZ ST SAN FRANCISCO CA 94114	Supervisor District: 8 Assessment of Costs: \$267.82 Interest @10 percent: \$26.78 Subtotal: \$294.60 Lien Recordation Charges: \$173.91 Total: \$468.51

April 23, 2018	Sorted By Address City Wide
376 Division: HIS Inspector: Lepe Address: 519 SANCHEZ ST	Supervisor District: 8 Assessment of Costs: \$685.41
Block/Lot: 3585 065	Interest @10 percent: \$68.54
Directors Order No: 201326451 - A	Subtotal: \$753.95
Owner Address: ELLIOTT JOEL 519 SANCHEZ ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94114	Total: \$927.86
377 Division: HIS Inspector: Lepe	Supervisor District: 8
Address: 519 SANCHEZ ST	Assessment of Costs: \$2,795.88
Block/Lot: 3585 065	Interest @10 percent: \$279.59
Directors Order No: 201447071 - A	Subtotal: \$3,075.47
Owner Address: ELLIOTT JOEL 519 SANCHEZ ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94114	Total: \$3,249.38
378 Division: CES Inspector: Gunnell Address: 923 927 SCOTT ST	Supervisor District: 5 Assessment of Costs: \$193.44
Block/Lot: 1155 004	Interest @10 percent: \$19.34
Directors Order No:	Subtotal: \$212.78
Owner Address: ROBINSON FAMILY TRUST 923 SCOTT ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94115	Total: \$386.69
379 Division: CES Inspector: Gunnell Address: 923 927 SCOTT ST	Supervisor District: 5 Assessment of Costs: \$580.32
Block/Lot: 1155 004	Interest @10 percent: \$58.03
Directors Order No:	Subtotal: \$638.35
Owner Address: ROBINSON FAMILY TRUST 923 SCOTT ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94115	Total: \$812.26
380 Division: CES Inspector: Greene	Supervisor District: 10
Address: 1621 SHAFTER AV	Assessment of Costs: \$338.52
Block/Lot: 5359 008	Interest @10 percent: \$33.85
Directors Order No: 109390-A	Subtotal: \$372.37
Owner Address: ESTATE OF JAMES O MITCHELL 29 EASTWOOD DR SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94112	Total: \$546.28

Page 77 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
381 Division: CES Inspector: Gunnell Address: 120 SHAKESPEARE ST	Supervisor District: 11 Assessment of Costs: \$822.12
Block/Lot: 7169 032	Interest @10 percent: \$82.21
Directors Order No: 106954-A	Subtotal: \$904.33
Owner Address: UY TERESITO B & MILDRED 120 SHAKESPEARE ST SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94112	Total: \$1,078.24
382 Division: CES Inspector: Gutierrez	Supervisor District: 11
Address: 421 SHIELDS ST	Assessment of Costs: \$822.12
Block/Lot: 7074 046	Interest @10 percent: \$82.21
Directors Order No: 107042-A	Subtotal: \$904.33
Owner Address: QUIMBO JOGI P.O. BOX 27381 SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94127	Total: \$1,078.24
383 Division: CES Inspector: Li	Supervisor District: 6
Address: 174 SHOTWELL ST	Assessment of Costs: \$1,138.79
Block/Lot: 3552 039	Interest @10 percent: \$113.88
Directors Order No: 108765-A	Subtotal: \$1,252.67
Owner Address: ALBERA LIMITED PARTNERSHIP ALBERA DAWN D 1 FLEUR PL	Lien Recordation Charges: \$173.91
ATHERTON CA 94025	Total: \$1,426.58
384 Division: CES Inspector: Li	Supervisor District: 6
Address: 174 SHOTWELL ST	Assessment of Costs: \$145.08
Block/Lot: 3552 039	Interest @10 percent: \$14.51
Directors Order No: 108765-A	Subtotal: \$159.59
Owner Address: ALBERA LIMITED PARTNERSHIP ALBERA DAWN D	Lien Recordation Charges: \$173.91
1 FLEUR PL ATHERTON CA 94025	Total: \$333.50
385 Division: CES Inspector: Li	Supervisor District: 11
Address: 526 SILVER AV	Assessment of Costs: \$1,466.19
Block/Lot: 5949 001D	Interest @10 percent: \$146.62
Directors Order No:	Subtotal: \$1,612.81
Owner Address: TAGOYLO GINO HIDALGO GINO H TAGOYLO & ANTHONY S 526 SILVER AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94030	Total: \$1,786.72

Page 78 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
386 Division: CES Inspector: Li Address: 645 SILVER AV	Supervisor District: 11 Assessment of Costs: \$870.48
Block/Lot: 5896 030	Interest @10 percent: \$87.05
Directors Order No: 107914-A	Subtotal: \$957.53
Owner Address: SHATARA ESSA & RAIDA 645 SILVER AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94134	Total: \$1,131.44
387 Division: CES Inspector: Gutierrez Address: 1525 SILVER AV	Supervisor District: 9 Assessment of Costs: \$386.88
Block/Lot: 5881 023	Interest @10 percent: \$38.69
Directors Order No:	Subtotal: \$425.57
Owner Address: CITY PROPERTY	Lien Recordation
25 VAN NESS AVE	Charges: \$173.91
SAN FRANCISCO CA 94102	Total: \$599.48
388 Division: CES Inspector: Gutierrez	Supervisor District: 6
Address: 334 SOUTH VAN NESS A	Assessment of Costs: \$338.52
Block/Lot: 3548 006	Interest @10 percent: \$33.85
Directors Order No: 109263-A	Subtotal: \$372.37
Owner Address: CONCEPCION C PERALTA 2008 L CECEPCION C PERALTA TRUSTEE 1124 PLYMOUTH AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94112	Total: \$546.28
389 Division: CES Inspector: Gutierrez Address: 334 SOUTH VAN NESS A	Supervisor District: 6 Assessment of Costs: \$1,009.89
Block/Lot: 3548 006	Interest @10 percent: \$100.99
Directors Order No: 109263-A	Subtotal: \$1,110.88
Owner Address: CONCEPCION C PERALTA 2008 L	Lien Recordation
CECEPCION C PERALTA TRUSTEE 1124 PLYMOUTH AVE	Charges: \$173.91
SAN FRANCISCO CA 94112	Total: \$1,284.79
390 Division: CES Inspector: Keane	Supervisor District: 9
Address: 1348 SOUTH VAN NESS.	Assessment of Costs: \$677.04
Block/Lot: 6518 006	Interest @10 percent: \$67.70
Directors Order No: 108138-A	Subtotal: \$744.74
Owner Address: FENSTER EDWARD H 1348 SO VAN NESS AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94110	Total: \$918.65

April 23, 2018	Sorted By Address City Wide
391 Division: HIS Inspector: Wohlers Address: 1307 1329 STEVENSON S Block/Lot: 3513 052 Directors Order No: 201633541 - A Owner Address: JOHN E WAI 1981 LIVING TRUS JOHN E WAI TRUSTEE 1333 JONES ST #1101 SAN FRANCISCO CA 94109	Supervisor District: 6 Assessment of Costs: \$1,199.26 Interest @10 percent: \$119.93 Subtotal: \$1,319.19 Lien Recordation Charges: \$173.91 Total: \$1,493.10
392 Division: HIS Inspector: Wohlers Address: 1307 1329 STEVENSON S Block/Lot: 3513 052 Directors Order No: 201633371 - A Owner Address: JOHN E WAI 1981 LIVING TRUS JOHN E WAI TRUSTEE 1333 JONES ST #1101 SAN FRANCISCO CA 94109	Supervisor District: 6 Assessment of Costs: \$891.89 Interest @10 percent: \$89.19 Subtotal: \$981.08 Lien Recordation Charges: \$173.91 Total: \$1,154.99
393 Division: CES Inspector: Gutierrez Address: 1441 STEVENSON ST Block/Lot: 3532 025 Directors Order No: 106889-A Owner Address: STEVENSON PLAZA LLC C/O LND DEVELOPMENT INC 220 S LINDEN AVE SO.SAN FRANCISCO CA 94080	Supervisor District: 6 Assessment of Costs: \$822.12 Interest @10 percent: \$82.21 Subtotal: \$904.33 Lien Recordation Charges: \$173.91 Total: \$1,078.24
394 Division: CES Inspector: Gutierrez Address: 533 SUTTER ST Block/Lot: 0296 013D Directors Order No: 108821-A Owner Address: SUNHILL ENTERPRISES LP 147 LOMITA DRIVE SUITE G MILL VALLEY CA 94941	Supervisor District: 3 Assessment of Costs: \$158.10 Interest @10 percent: \$15.81 Subtotal: \$173.91 Lien Recordation Charges: \$173.91 Total: \$347.82
395 Division: CES Inspector: Gutierrez Address: 533 SUTTER ST Block/Lot: 0296 013D Directors Order No: 108821-A Owner Address: SUNHILL ENTERPRISES LP 147 LOMITA DRIVE SUITE G MILL VALLEY CA 94941	Supervisor District: 3 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69

Page 80 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
396 Division: CES Inspector: Gutierrez Address: 533 SUTTER ST	Supervisor District: 3 Assessment of Costs: \$1,251.36
Block/Lot: 0296 013D	Interest @10 percent: \$125.14
Directors Order No: 108821-A	Subtotal: \$1,376.50
Owner Address: SUNHILL ENTERPRISES LP 147 LOMITA DRIVE SUITE G	Lien Recordation Charges: \$173.91
MILL VALLEY CA 94941	Total: \$1,550.41
397 Division: CES Inspector: Gutierrez	Supervisor District: 5
Address: 1570 SUTTER ST	Assessment of Costs: \$1,536.72
Block/Lot: 0673 007	Interest @10 percent: \$153.67
Directors Order No: 108753-A	Subtotal: \$1,690.39
Owner Address: LIEBERMAN R MICHAEL IRENE M LIEBERMAN 1398 POST ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94109	Total: \$1,864.30
398 Division: CES Inspector: Keane	Supervisor District: 10
Address: 338 TEDDY AV	Assessment of Costs: \$1,106.61
Block/Lot: 6210 012	Interest @10 percent: \$110.66
Directors Order No: 109070-A	Subtotal: \$1,217.27
Owner Address: VILLALON ROSE M 619 CAPITOL AVE SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94112	Total: \$1,391.18
399 Division: CES Inspector: Keane	Supervisor District: 10
Address: 338 TEDDY AV	Assessment of Costs: \$96.72
Block/Lot: 6210 012	Interest @10 percent: \$9.67
Directors Order No: 109070-A	Subtotal: \$106.39
Owner Address: VILLALON ROSE M 619 CAPITOL AVE	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94112	Total: \$280.30
400 Division: CES Inspector: Li	Supervisor District: 10
Address: 1278 THOMAS AV	Assessment of Costs: \$822.12
Block/Lot: 4792 016	Interest @10 percent: \$82.21
Directors Order No: 106776-A	Subtotal: \$904.33
Owner Address: CITIGROUP MORTGAGE LOAN TR U.S. BANK NA TRUSTEE 3217 S DECKER LAKE DR	Lien Recordation Charges: \$173.91
SALT LAKE CITY UT 84119	Total: \$1,078.24

Page 81 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
401 Division: CES Inspector: Li Address: 1278 THOMAS AV	Supervisor District: 10 Assessment of Costs: \$822.12
Block/Lot: 4792 016	Interest @10 percent: \$82.21
Directors Order No: 106776-A	Subtotal: \$904.33
Owner Address: CITIGROUP MORTGAGE LOAN TR U.S. BANK NA TRUSTEE 3217 S DECKER LAKE DR	Lien Recordation Charges: \$173.91
SALT LAKE CITY UT 84119	Total: \$1,078.24
402 Division: CES Inspector: Keane	Supervisor District: 9
Address: 1189 THOMPKINS AV	Assessment of Costs: \$48.36
Block/Lot: 5696 036	Interest @10 percent: \$4.84
Directors Order No: 108830-A	Subtotal: \$53.20
Owner Address: 992 PERALTA STREET LLC % CENTERSTONE PROPERTY MANA 1965 MARKET ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94103	Total: \$227.11
403 Division: CES Inspector: Keane	Supervisor District: 9
Address: 1189 THOMPKINS AV Block/Lot: 5696 036	Assessment of Costs: \$2,047.10
Directors Order No: 108829-A	Interest @10 percent: \$204.71
Owner Address: 992 PERALTA STREET LLC	Subtotal: \$2,251.81
% CENTERSTONE PROPERTY MANA 1965 MARKET ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94103	Total: \$2,425.72
404 Division: HIS Inspector: Mungovan Address: 50 TURK ST	Supervisor District: 6 Assessment of Costs: \$575.68
Block/Lot: 0340 008	Interest @10 percent: \$57.57
Directors Order No: 201602801 - A	Subtotal: \$633.25
Owner Address: PATEL NATVERBHAI N 11645 SAN PABLO AVE EL CERRITO CA	Lien Recordation Charges: \$173.91
94530	Total: \$807.16
405 Division: HIS Inspector: Mungovan	Supervisor District: 6
Address: 270 272 TURK ST	Assessment of Costs: \$2,201.79
Block/Lot: 0338 010	Interest @10 percent: \$220.18
Directors Order No: 201472281 - A	Subtotal: \$2,421.97
Owner Address: 270 TURK LLC STEVEN C. THROWER 600 CALIFORNIA ST 20TH-FL	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94108	Total: \$2,595.88

Page 82 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
Address: 1866 UNION ST Block/Lot: 0530 050 Directors Order No: 107296-A Owner Address: NISSIM LANYADOO IRREVOC TR TRUJILLO MICHAEL TTEE 1400 GRANADA ST VALLEJO CA 94591	Supervisor District: Assessment of Costs: \$822.12 Interest @10 percent: \$82.21 Subtotal: \$904.33 Lien Recordation Charges: \$173.91 Total: \$1,078.24
407 Division: CES Inspector: Gutierrez Address: 1870 UNION ST Block/Lot: 0530 052 Directors Order No: 108592-A Owner Address: NISSIM LANYADOO IRREVOC TR TRUJILLO MICHAEL TTEE 1400 GRANADA ST VALLEJO CA 94591	Supervisor District: Assessment of Costs: \$1,480.74 Interest @10 percent: \$148.07 Subtotal: \$1,628.81 Lien Recordation Charges: \$173.91 Total: \$1,802.72
408 Division: CES Inspector: Li Address: 1870 UNION ST Block/Lot: 0530 052 Directors Order No: 107389-A Owner Address: NISSIM LANYADOO IRREVOC TR TRUJILLO MICHAEL TTEE 1400 GRANADA ST VALLEJO CA 94591	Supervisor District: Assessment of Costs: \$822.12 Interest @10 percent: \$82.21 Subtotal: \$904.33 Lien Recordation Charges: \$173.91 Total: \$1,078.24
409 Division: CES Inspector: Gutierrez Address: 1870 UNION ST Block/Lot: 0530 052 Directors Order No: 108592-A Owner Address: NISSIM LANYADOO IRREVOC TR TRUJILLO MICHAEL TTEE 1400 GRANADA ST VALLEJO CA 94591	Supervisor District: Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69
410 Division: CES Inspector: Li Address: 1870 UNION ST Block/Lot: 0530 052 Directors Order No: 107393-A Owner Address: NISSIM LANYADOO IRREVOC TR TRUJILLO MICHAEL TTEE 1400 GRANADA ST VALLEJO CA 94591	Supervisor District: Assessment of Costs: \$822.12 Interest @10 percent: \$82.21 Subtotal: \$904.33 Lien Recordation Charges: \$173.91 Total: \$1,078.24

Page 83

of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
411 Division: CES Inspector: Li Address: 454V UNIVERSITY ST Block/Lot: 6038 052	Supervisor District: 9 Assessment of Costs: \$628.68 Interest @10 percent: \$62.87
Directors Order No:	Subtotal: \$691.55
Owner Address: FRANK CARRARO INVESTMENTS L LENA CARRARO 4192 MISSION ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94112	Total: \$865.46
412 Division: CES Inspector: Mather Address: 528 VALENCIA ST	Supervisor District: 6 Assessment of Costs: \$725.40
Block/Lot: 3568 003	Interest @10 percent: \$72.54
Directors Order No: 108200-A	Subtotal: \$797.94
Owner Address: CROWN HOTEL LLC MR DESAI 528 VALENCIA ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94110	Total: \$971.85
413 Division: CES Inspector: Ng Address: 528 VALENCIA ST	Supervisor District: 6 Assessment of Costs: \$96.72
Block/Lot: 3568 003	Interest @10 percent: \$9.67
Directors Order No: 109008-A	Subtotal: \$106.39
Owner Address: CROWN HOTEL LLC MR DESAI 528 VALENCIA ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94110	Total: \$280.30
414 Division: CES Inspector: Keane Address: 537 VALENCIA ST	Supervisor District: 6 Assessment of Costs: \$290.16
Block/Lot: 3569 044	Interest @10 percent: \$29.02
Directors Order No:	Subtotal: \$319.18
Owner Address: CR 535-539 VALENCIA LLC 1600 SHATTUCK AVE #106 BERKELEY CA	Lien Recordation Charges: \$173.91
94709	Total: \$493.09
415 Division: CES Inspector: Keane	Supervisor District: 6
Address: 537 VALENCIA ST	Assessment of Costs: \$193.44
Block/Lot: 3569 044	Interest @10 percent: \$19.34
Directors Order No:	Subtotal: \$212.78
Owner Address: CR 535-539 VALENCIA LLC 1600 SHATTUCK AVE #106 BERKELEY CA	Lien Recordation Charges: \$173.91
94709	Total: \$386.69

Page 84 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
416 Division: CES Inspector: Mather Address: 694 VALENCIA ST Block/Lot: 3577 009 Directors Order No: 107553-A Owner Address: NISSIM LANYADOO 2016 IRREVO MICHAEL TRUJILLO, TRUSTEE 1400 GRANADA VALLEJO CA 94591	Supervisor District: 8 Assessment of Costs: \$870.48 Interest @10 percent: \$87.05 Subtotal: \$957.53 Lien Recordation Charges: \$173.91 Total: \$1,131.44
417 Division: HIS Inspector: Lopez Address: 901 909 VALENCIA ST Block/Lot: 3609 042 Directors Order No: 201491422 - A Owner Address: 901 VALENCIA LP THE PRADO GROUP INC ATTN DA 150 POST ST SUITE 320 SAN FRANCISCO CA 94108	Supervisor District: 9 Assessment of Costs: \$1,786.50 Interest @10 percent: \$178.65 Subtotal: \$1,965.15 Lien Recordation Charges: \$173.91 Total: \$2,139.06
418 Division: HIS Inspector: Lopez Address: 901 909 VALENCIA ST Block/Lot: 3609 042 Directors Order No: 201414651 - A Owner Address: 901 VALENCIA LP THE PRADO GROUP INC ATTN DA 150 POST ST SUITE 320 SAN FRANCISCO CA 94108	Supervisor District: 9 Assessment of Costs: \$1,950.71 Interest @10 percent: \$195.07 Subtotal: \$2,145.78 Lien Recordation Charges: \$173.91 Total: \$2,319.69
419 Division: HIS Inspector: Lopez Address: 901 909 VALENCIA ST Block/Lot: 3609 042 Directors Order No: 201561891 - A Owner Address: 901 VALENCIA LP THE PRADO GROUP INC ATTN DA 150 POST ST SUITE 320 SAN FRANCISCO CA 94108	Supervisor District: 9 Assessment of Costs: \$1,115.56 Interest @10 percent: \$111.56 Subtotal: \$1,227.12 Lien Recordation Charges: \$173.91 Total: \$1,401.03
420 Division: HIS Inspector: Lopez Address: 901 909 VALENCIA ST Block/Lot: 3609 042 Directors Order No: 201524131 - A Owner Address: 901 VALENCIA LP THE PRADO GROUP INC ATTN DA 150 POST ST SUITE 320 SAN FRANCISCO CA 94108	Supervisor District: 9 Assessment of Costs: \$2,297.60 Interest @10 percent: \$229.76 Subtotal: \$2,527.36 Lien Recordation Charges: \$173.91 Total: \$2,701.27

Page 85 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018	Sorted By Address City Wide
421 Division: CES Inspector: Gutierrez Address: 956 966 VALENCIA ST	Supervisor District: 8 Assessment of Costs: \$504.97
Block/Lot: 3608 005	Interest @10 percent: \$50.50
Directors Order No: 107316-A	Subtotal: \$555.47
Owner Address: 956 VALENCIA LP 150 POST ST STE 320 SAN FRANCISCO CA	Lien Recordation Charges: \$173.91
94108	Total: \$729.38
422 Division: CES Inspector: Gutierrez Address: 956 966 VALENCIA ST	Supervisor District: 8 Assessment of Costs: \$193.44
Block/Lot: 3608 005	Interest @10 percent: \$19.34
Directors Order No: 107316-A	Subtotal: \$212.78
Owner Address: 956 VALENCIA LP 150 POST ST STE 320	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94108	Total: \$386.69
423 Division: CES Inspector: Mather	Supervisor District: 8
Address: 692 VALENCIA	Assessment of Costs: \$870.48
Block/Lot: 3577 009	Interest @10 percent: \$87.05
Directors Order No: 107553-A	Subtotal: \$957.53
Owner Address: NISSIM LANYADOO 2016 IRREVO MICHAEL TRUJILLO, TRUSTEE 1400 GRANADA	Lien Recordation Charges: \$173.91
VALLEJO CA 94591	Total: \$1,131.44
424 Division: CES Inspector: Keane Address: 2030 VALLEJO ST	Supervisor District: 2 Assessment of Costs: \$1,057.23
Block/Lot: 0555 032	Interest @10 percent: \$105.72
Directors Order No: 109001-A	Subtotal: \$1,162.95
Owner Address: VALLEJO STREET CO INC	Lien Recordation
2030 VALLEJO ST SAN FRANCISCO CA	Charges: \$173.91
94123	Total: \$1,336.86
425 Division: CES Inspector: Keane	Supervisor District: 2
Address: 2368 VALLEJO ST	Assessment of Costs: \$96.72
Block/Lot: 0558 017	Interest @10 percent: \$9.67
Directors Order No: 109177-A	Subtotal: \$106.39
Owner Address: GINA KHAMSI BEST 1997 REVOC BEST GINA KHAMSI TTEE 2368 VALLEJO ST	Lien Recordation Charges: \$173.91
SAN FRANCISCO CA 94123	Total: \$280.30

Page 86 of 88

DEPARTMENT OF BUILDING INSPECTION REPORT OF DELINQUENT CHARGES

April 23, 2018 Sorted By Address City Wide		
426 Division: CES Inspector: Keane Address: 2368 VALLEJO ST Block/Lot: 0558 017 Directors Order No: 109177-A Owner Address: GINA KHAMSI BEST 1997 REVOC BEST GINA KHAMSI TTEE 2368 VALLEJO ST SAN FRANCISCO CA 94123	Supervisor District: 2 Assessment of Costs: \$1,205.48 Interest @10 percent: \$120.55 Subtotal: \$1,326.03 Lien Recordation Charges: \$173.91 Total: \$1,499.94	
427 Division: CES Inspector: Keane Address: 2368 VALLEJO ST Block/Lot: 0558 017 Directors Order No: 109177-A Owner Address: GINA KHAMSI BEST 1997 REVOC BEST GINA KHAMSI TTEE 2368 VALLEJO ST SAN FRANCISCO CA 94123	Supervisor District: 2 Assessment of Costs: \$193.44 Interest @10 percent: \$19.34 Subtotal: \$212.78 Lien Recordation Charges: \$173.91 Total: \$386.69	
428 Division: CES Inspector: Theriault Address: 1320 WALLACE AV Block/Lot: 4827 004 Directors Order No: 106146-A Owner Address: GARZA PROPERTY LVG TR OF 20 GARZA MIKE TRUSTEE 220 RANKIN ST SAN FRANCISCO CA 94124	Supervisor District: 10 Assessment of Costs: \$1,906.20 Interest @10 percent: \$190.62 Subtotal: \$2,096.82 Lien Recordation Charges: \$173.91 Total: \$2,270.73	
429 Division: CES Inspector: Keane Address: 16 WAVERLY PL Block/Lot: 0225 028 Directors Order No: 109336-A Owner Address: LAI MAN & CHEE HEUNG CHAN L LUI LAI MAN & CHEE HEUNG CH 3007 20TH ST # 3 SAN FRANCISCO CA 94110	Supervisor District: 3 Assessment of Costs: \$96.72 Interest @10 percent: \$9.67 Subtotal: \$106.39 Lien Recordation Charges: \$173.91 Total: \$280.30	
430 Division: CES Inspector: Keane Address: 16 WAVERLY PL Block/Lot: 0225 028 Directors Order No: 109336-A Owner Address: LAI MAN & CHEE HEUNG CHAN L LUI LAI MAN & CHEE HEUNG CH 3007 20TH ST # 3 SAN FRANCISCO CA 94110	Supervisor District: 3 Assessment of Costs: \$1,008.87 Interest @10 percent: \$100.89 Subtotal: \$1,109.76 Lien Recordation Charges: \$173.91 Total: \$1,283.67	

Page 87

of 88

REPORT OF DELINQUENT CHARGES **Code Enforcement Cases**

DEPARTMENT OF BUILDING INSPECTION

April 23, 2018	Sorted By Address C	Sity Wide
431 Division: CES Inspector: Li Address: 58 WAWONA ST	Supervisor District: 7 Assessment of Costs:	\$145.08
Block/Lot: 2919A 012	Interest @10 percent:	\$14.51
Directors Order No: 108958-A	Subtotal:	\$159.59
Owner Address: DORSEY LOUIS 58 WAWONA ST SAN FRANCISCO CA	Lien Recordation Charges:	\$173.91
94127	Total:	\$333.50
432 Division: CES Inspector: Mather Address: 49 WESTGATE DR	Supervisor District: 7 Assessment of Costs:	\$762.48
Block/Lot: 3269 006	Interest @10 percent:	\$76.25
Directors Order No: 107003-A	Subtotal:	\$838.73
Owner Address: AB LIVING TRUST RICA TSENG & PAUL TERRELL, 49 WESTGATE DR	Lien Recordation Charges:	\$173.91
SAN FRANCISCO CA 94127	Total:	\$1,012.64
433 Division: CES Inspector: Greene	Supervisor District: 10	
Address: 111 WILLIAMS AV Block/Lot: 5415 005	Assessment of Costs:	
Directors Order No:	Interest @10 percent:	
Owner Address: PENINSULA CORRIDOR JOINT PO	Subtotal:	\$1,276.70
Owner Madress. TEMMOOD/TOOMADOR JOHN TO	Lien Recordation Charges:	\$173.91
	Total:	\$1,450.61
434 Division: CES Inspector: Gunnell Address: 131 WILMOT ST	Supervisor District: 5 Assessment of Costs:	\$966.18
Block/Lot: 0659 019	Interest @10 percent:	\$96.62
Directors Order No: 109069-A	Subtotal:	\$1,062.80
Owner Address: 131 WILMOT STREET LLC 1355 WILLOW WY #261 CONCORD CA	Lien Recordation Charges:	\$173.91
94520	Total:	\$1,236.71
435 Division: CES Inspector: Gunnell	Supervisor District: 5	
Address: 131 WILMOT ST	Assessment of Costs:	\$145.08
Block/Lot: 0659 019	Interest @10 percent:	\$14.51
Directors Order No: 109069-A	Subtotal:	\$159.59
Owner Address: 131 WILMOT STREET LLC 1355 WILLOW WY #261 CONCORD CA	Lien Recordation Charges:	\$173.91
94520	Total:	\$333.50

Page 88 of 88

April 23, 2018	Sorted By Address City Wide
436 Division: CES Inspector: Li Address: 320 WOODSIDE AV	Supervisor District: 7 Assessment of Costs: \$386.88
Block/Lot: 2892 014 Directors Order No: 108534-A Owner Address: JOSHUA L & JANG JA ROOFENER 320 WOODSIDE AVE SAN FRANCISCO CA 94127	Interest @10 percent: \$38.69 Subtotal: \$425.57 Lien Recordation Charges: \$173.91 Total: \$599.48
437 Division: CES Inspector: Keane Address: 1552 YOSEMITE AV Block/Lot: 4830 016 Directors Order No: 109164-A Owner Address: YOSEMITE INVESTMENT LLC 220 S LINDEN AVE SO SAN FRANCISCO CA 94080	Supervisor District: Assessment of Costs: \$1,160.64 Interest @10 percent: \$116.06 Subtotal: \$1,276.70 Lien Recordation Charges: \$173.91 Total: \$1,450.61
	Report Total \$491963.15